10N

<5 O-N-w®

RIEJIHRERS
2024

BHONEIETI AL R

YOU AROUND THE CNC TOOL EXPERTS




2352024

CNC TOOL ONE-STOP PROCUREMENT

CNCTOOL

Please enter your headline Please enter your headlinePlease enter your hedlinePlease enter your headline Please enter your headlinePlease enter your headlinePlease enter your headline P
lease enter your headlinePlease enter your headlinePlease enter your headline Please enter your headlinePlease enter your headline

Please enter your headline Please enter your headlinePlease enter your hedlinePlease enter your headline Please enter your headlinePlease enter your headline

Please enter your headline Please enter your headlinePlease enter your he

adlinePlease enter your headline Please enter your headlinePlease enter your headlinePlease enter your headline

i B AAUE R 5K

It will make your machine more efficient.




NUMERICAL CONTROL TOOL

AT EN
COMPANY INTRODUCTION

WARRE B EIETIEB R AT ML F20095F, LEFILUREFTOAKEFALX, B—RKEWEPEiHIIET]
Bl . 28R, MER—BEE I TRmRETNAEFRNRLZITNE~TE, TE~RBHSK/BBT/BT/ISO/SK/NT
ERBERITTIMAT, ER/SKESEERRX, BRI/ IIFT/RER/ TXKGET], JRAUTIRRMIPORED M
&, B~ R RAERITEGB. EFRiREISOEEFTEDIN, EEFTVEANS BATOEJISERRIRE, 7= RigitR
FPro/Engineer/.UG.AutoCAD. SolidWorkZ & it3 &, BT & &1t §1&, R A LU iTH1EE B, EinEiE
TJEFTLRE~ &,

“MREF AR BRRUERSIETIENEVESR, IthEE T AR LB E FESN R R RIER T T AN
BR,MEHERN~RRENTEERBEISMRAION, RAISO001EMFREEBAERTIRESKT, AFXE
FRAFLHMERPEFEERSL, BEOMRB . EF  HEFTENRTNEREIEHMLULE, hEFIRERES M
DRSS . ABLES I # TR T E4SSTUDER. st KELLENBERGERE MBI S ENIIEE S ERK, BEZ L
TSUGAMIBFEE B, BRI SILEMAZAK/ BEKRPROKUMARIE E#E & RS L EMAZAKE I TH OEF S
MI&#E.5#BAR=FMitutoyo=%15, HE=FEMitutoyoZR e FAL, =F Mitutoyo Bt B, =FMitutoyo
HEREE R, EEFH EDiebold IR ER R, BEEERHAIMERED T &, BEZOLLERSEEHXT TN EF H i MY
B RBEFEME# OB XNIRARERNRREN TERS N, SIHEELHARLIERS, BRLREBRERTZ
MIE, ARIET iR E . BUER EIE T AHE —XEERRETN AT UPEE KR0S FRIEENT I K
REERFA, HPARTETIRMIE, TR A TIRIM8H, sefErT Mt R - R R A 2 # . BUE B #3= 7] B[R B
BEEMHHEERM, tB RN EMHNEERXFNEFEREFINE, ARMAMERNENERMBX, PSR EEEH%
FRMAN, A RESKAE, HMMX3-4XRE 5, B E—NEE~RXGHETAF P, RIS RUEET~ &
FEHOKMN BE.BEXM . GTH.EXE. A HERAF TF40ZMERMMK, M= MK 56/3C A S
E.IRENMCHERFTULRFINTZONAG, RS TEFAN—BIFT. QA5 EATEB LT EARUARRIER T
TEARRABRFRIDLERINEF K, EBSELERE,



EASXW®
LEADERSHIP CONCERN

S /\ (= -
LWAREERAEKEXRE BlniESITE EBRSTEITKEEFEREER
THE GOVERNOR CAME TO VISIT OUR FACTORY

SELYNSE:
OFFICE CORNER




EENES
EXHIBITION PHOTOS

O'N-W msilen®

Ry N




=i #t H HF 2

dOHSYYdOM NOILDNAOodd

gl
15

INIWdINO3 ONILSIL

AAR=E= 4RI 1: 10#HERNTAR (BEHEIHRER)
Mitutoyo Coordinate Measuring Machine Picture of :1:10 taper inspection tool

(German Daibo collet chuck inspection tool)

BASEHEEEN B BRI 4

Japanese Mitutoyo Round Test Machine Electric Spindle Test Machines



€ & 5O
WAREHOUSE DISTRIBUTION CENTER

2
PACKAGING




< O0-N-w®

‘HSK iBREEJIW&EF  Hsk HYDRAULIC CHUCKS SERIES

\A’/ . &
\/
17,20 21-24 25-26

27 28-30

‘SBT iREJIWM ARSI  sBT HYDRAULIC CHUCKS SERIES

{ 33-35 36-38 }

‘BT BEJIWES] BT HYDRAULIC CHUCKS SERIES

WY W%

46- 47 45, 49 50-52 53-55

SKBREJIWHHEI sk HYDRAULIC CHUCKS SERIES

AR

59, 62 64-65 66-67 68




HYDRAULIC CHUCKS SERIES

R EJI R F 5

INFE—ZIRFEX FERRE




HIZTIN

S ®
VY wE RS %5 O-N-W

-2 EZ%¥  REFERENCE DETAILS

DIN 69893A

=t

S3IS SHINHD DIMNVYHAAH
SN A

a2 d3 d4 : b1 b2 b3
H10 H11 . o [ 2 1 0.04 H10 H10
HSK32A 32 | 24.007 | 17 | 20.5| 19 26 37 4 16 3.2 35 20 16 7.05 9 7
HSK40A 40 | 30.007 | 21 | 25.5| 23 34 45 4 20 4 35 20 16 8.05 | 11| 9
HSK50A 50 | 38.009 | 26 32 29 42 59.3 7 25 5 42 26 18 | 10.54 | 14 | 12
HSK63A 63 | 48.010 | 34 40 37 53 72.3 7 32 6.3 42 26 18 | 12.54 | 18 | 16
HSK80A 80 | 60.012 | 42 50 46 67 88.8 7 40 8 42 26 18 | 16.04 | 20 | 18
HSK100A 100 | 75.013 | 53 63 58 85 | 109.75 | 7 50 10 45 29 20 | 20.02 | 22 | 20

ST

i

OfEIEE: < AT3

OEAHME: 20CrMnTi/15CrMo

OFEE: HRC56° BHFEE > 0.8mm

OERE: < 0.8um

OFXRMAMMEE: Ra < 0.5um

OJINETIRINETN T G6.3, TTRIMEERBHNTE G2.5
OZA{AMSE: DIN 69893-1

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.
© Roundness < 0.8um.

© Surface roughness:Ra < 0.5pum.
© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-1.



<5 0-N-w®

-Z2EZ%#  REFERENCE DETAILS

DIN 69893E

RETIH RS

d2

B TIRR

MR E

CNCTOOLS

NS A
SIS SHINHI DMNVIAAH

HSK25E 25 19 14 16.4 15 20 28.5 13 2.5 20 10 4.5

HSK32E 32 24 17 21 19 26 37 16 3.2 35 20 16

HSK40E 40 30 21 25.5 23 34 45 20 4 35 20 16

HSK50E 50 38 26 32 29 42 59.3 25 5 42 26 18

HSK63E 63 48 34 40 37 53 72.3 32 6.3 42 26 18
ST

E:

OEIEE: < AT3

OEAME: 20CrMnTi/15CrMo

OFEE: HRC56° BHFEE > 0.8mm

OHEREE: < 0.8um

OFMEMEMKEE: Ra < 0.5pm

O TN ETIRARERN T4 G6.3, TRIMEEBBRHNTE G2.5
OZA{AM5E: DIN 69893-5

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.
© Roundness < 0.8um.

© Surface roughness:Ra < 0.5pum.

© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.

© Shank body standard:DIN69893-5.

02



HIZTIN

S ®
VY wE RS %5 O-N-W

-BEEH REFERENCE DETAILS

DIN 69893F

d2

REEn

7. 98

&t

d7

NI

EE
=<
=]
e
>
c
=
n
[a}
I
=
o
=
&
wv
m
2
m
wn

=

HSK50F 50 30.007 21 25.5 23 42 59.3 7 20 4 42 26 18

HSK63F 63 38.009 26 32 29 53 72.3 7 25 5 42 26 18

HSK8OF 80 48 34 40 37 67 88.8 7 32 6.3 42 26 18
ST

i

OHERE: < AT3

OEAHFR: 20CrMnTi/15CrMo

O E: HRC56° BHRE > 0.8mm

OHEEE: < 0.8um

OFMEMME: Ra < 0.5pm

O NI BTIAREMN T G6.3, TIBIMEERENTE G2.5
OA&AKMSE: DIN 69893-6

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.
© Roundness < 0.8um.

© Surface roughness:Ra < 0.5um.
© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-6.



B TIRR

® A3
@ O-N-W RETEF [

*HSK32E-PHC & EJI4R  Hsk32E-PHC HYDRAULIC TOOL HOLDER

G

I
S
BE
7 a
W&
gﬁ
E
5']3

25 Model o i e oo o
HSK32E-PHC03-80 | 96 80 | 60 | 20 | 29 | 32 | 20 |23 | 40 3 * 18 * 0.5
-PHC3.175-80 | 96 | 80 | 60 | 20 [ 29 | 32 | 20 |23| 40 |3.175 * 18 * 0.5
-PHC04-80 | 96 | 80 | 60 | 20 | 29 | 32 | 21 | 24| 40 4 * 24 * 0.5
-PHC05-80 | 96 | 80 | 60 | 20 | 29 | 32 | 21 | 25| 40 5 * 26 * 0.5
-PHC06-80 | 96 | 80 | 60 | 20 | 29 | 32 | 22 | 26| 40 6 37 27 M5*0.8P 0.5
-PHC08-80 | 96 | 80 | 60 | 20 | 29 | 32 | 24 | 28| 40 8 37 27 M6*1.0P 0.5
-PHC10-85 [101|85 | 65| 20 | 35| 32 | 26 |30| 40 10 41 31 M6*1.0P 0.5
-PHC12-90 [106| 90 | 70 | 20 | 40 | 32 | 28 |32| 40 12 46 36 M6*1.0P 0.5
MR RR:

F PEI{Q}E Length (L1)
JIMFE 1R Diameter
Ifd

£1X S Holder type
AR T, Taper size

= 04



HIETIR

S ®
VY wE RS %5 O-N-W

-HSK40E-PHC & JEJJ#8  HsK40E-PHC HYDRAULIC TOOL HOLDER

\

VA>Z 77
5 |
o] |

L4
L1

D2
D3

< 3

&t

NI

=

EE
=<
=]
e
>
c
=
n
[a}
I
=
o
=
&
wv
m
2
m
wn

2% Model 2 o N e el e
HSK40E-PHC03-70 90 |70 | 50| 20 |36 |40 | 20 |23|33.5| 3 * 18 * 0.5
-PHC3.175-70 90 |70 | 50| 20 |36 | 40 | 20 |23|33.5|3.175 * 18 * 0.5
-PHC4-70 90 |70 (50| 20 | 36| 40 | 21 |24|33.5 4 * 24 * 0.5
-PHCO05-70 90 |70 (50| 20 |36| 40 | 21 |25]|33.5 5 * 26 * 0.5
-PHC06-70 90 |70 (50| 20 |36| 40 | 22 |26|33.5 6 37 27 M5*0.8P | 0.5
-PHC08-70 90 |70 (50| 20 | 36| 40 | 24 |28|33.5 8 37 27 M6*1.0P | 0.5
-PHC10-75 95 |75 (55|20 |42| 40 | 26 |30|33.5| 10 41 31 M6*1.0P | 0.5
-PHC12-80 | 100 |80 | 60 | 20 | 48 | 40 | 28 |32(33.5| 12 46 36 M6*1.0P | 0.6
AR RR:
@Ll K Length (L1)
JIFFE 1R Diameter
IhkEfXS Holder type
$EFRAZ T Taper size



<5 0-N-w®

-HSK50E-PHC & & J1 4

RETIH RS

HSK50E-PHC HYDRAULIC TOOL HOLDER

FIG.1
HSK. NO

()

B TIRR

MR E

L1

FIG.2
HSK. NO

o

o>

D2
D3

RABARE C RMBEANRE C1

CNCTOOLS

SNFS AR

e
=
S
Pl
>
c
=
a
o
T
c
o
~
10
©n
m
2
m
«n

BS Model Max. insertion depth Min insertion depth
HSK50E-PHCO03-70 | 95 |70 44| 26 | 28 | 50| 20 | 23 | 40 3 * 18 * 1 0.7
-PHC3.175-70 | 95 |70 |44 | 26 | 28 | 50| 20 | 23 | 40 |3.175 * 18 * 1 0.7
-PHC04-70 | 95 | 70|44 | 26 | 28 | 50 | 21 | 24 | 40 4 * 24 * 1 0.7
-PHCO05-70 | 95 | 70|44 | 26 | 28 | 50 | 21 | 25| 40 5 * 26 * 1 0.7
-PHC06-70 | 95 | 70|44 | 26 | 28 | 50 | 22 | 26 | 40 6 37 27 M5*0.8P | 1 0.7
-PHC08-70 | 95 | 70|44 | 26 | 28 | 50 | 24 | 28 | 40 8 37 27 M6*1.0P | 1 0.7
-PHC10-75 [ 100| 75|49 | 26 |34 50|26 |30|40| 10 41 31 M8*1.0P | 1 0.7
-PHC12-85 [ 110|85| 59| 26 |44 | 50|28 |32|40| 12 46 36 M10*1.0P | 1 0.8
-PHC14-85 [ 110|85| 59| 26 |44 |50|30(34|40| 14 46 36 M10*1.0P | 1 0.9
-PHC16-90 | 120 |90 | 64 | 26 | 30|50 | 34|38 |40 | 16 49 39 M10*1.0P | 1 1
-PHC18-90 {12090 | 64 | 26 | 29 |50 |36 |40 |53 | 18 49 39 M10*1.0P | 2 | 1.05
-PHC20-90 {12090 | 64 | 26 | 29 |50 |38 |42 |60 | 20 51 41 M10*1.0P | 2 1.1
R ER:
@Ll K Length (L1)
JI#FE 1% Diameter
InkEfXS Holder type
SAAAZ I Taper size

= 06



HIZTIN

S ®
VY wE RS %5 O-N-W

-HSK63E-PHC #EEJJ#A  HsKe3E-PHC HYDRAULIC TOOL HOLDER

FIG.1
G c
HSK. NO 1
e L] ,7[ - 5/8 ]

: |
SR L4
£ L3 L2
a7l U
R
g 7
I FIG.2 c

25 Model A |G| T
HSK63E-PHCO5- 70 [102| 70 |44 | 26 | 24 | 63 | 21 |25| 50 | 5 * 26 * 1 1.1
-PHCO06- 70 |102| 70 (44 | 26 | 24 | 63 | 22 |26| 50 | 6 37 27 M5*0.8P | 1 1.1
-PHCO08- 70 |102| 70 |44 | 26 |24 | 63 | 24 |28| 50 | 8 37 27 M6*1.0P | 1 1.1
-PHC10- 80 |112| 80 (54| 26 | 35| 63 | 26 [30| 50 |10 41 31 M8*1.0P | 1 1.1
-PHC12- 85 |117| 85 |59 | 26 |40 | 63 | 28 [32| 50 |12 46 36 M10*1.0P| 1 1.2
-PHC14- 85 |117| 85 |59 | 26 |40 | 63 | 30 [34| 50 |14 46 36 M10*1.0P | 1 1.2
-PHC16- 90 |122| 90 | 64 | 26 |46 | 63 | 34 |38| 50 |16 49 39 M12*1.0P| 1 1.3
-PHC18- 90 [122| 90 (64| 26 |47 | 63 | 36 [40| 50 |18 49 39 M12*1.0P| 1 1.3
-PHC20- 90 [122| 90 (64 | 26 |48 | 63 | 38 [42| 50 |20 51 41 M16*1.0P| 1 1.3
-PHC25-120 |152|120( 94| 26 | 59 | 63 | 53 |57| 63 |25 57 47 M16*1.0P| 2 2.3
-PHC32-125 [157(125(99 | 26 |63 | 63 | 60 [64| 75 |32 61 51 M16*1.0P| 2 2.8
RS ER:
@Ll £ Length (L1)
JIFFE 1R Diameter
THEEL S Holder type

HHEFRAZ I Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK63F-PHC {#EJJ#8  HsKe3F-PHC HYDRAULIC TOOL HOLDER

FIG.1

HSK. NO

NS A
SIS SHINHI DMNVIAAH

%S Model 0 e tnion s in mseron oot

HSK63F-PHCO5- 70 | 95| 70 (44 | 26 | 24| 63 | 21 |25| 50 | 5 * 26 * 1 1
-PHC06- 70 (95| 70 [ 44| 26 | 24| 63 | 22 |26| 50 | 6 37 27 M5*0.8P | 1 1
-PHCO08- 70 (95| 70 44| 26 |24 | 63 | 24 |28| 50 | 8 37 27 M6*1.0P | 1 1
-PHC10- 80 (105 80 [ 54| 26 | 35| 63 | 26 |30| 50 (10 41 31 M8*1.0P | 1 | 1.
-PHC12- 85 (110| 85 [ 59| 26 |40 | 63 | 28 |32| 50 (12 46 36 M10*1.0P | 1 | 1.1
-PHC14- 85 (110| 85 |59 | 26 |40 | 63 | 30 |34| 50 |14 46 36 M10*1.0P | 1 | 1.2
-PHC16- 90 (115 90 |64 | 26 |46 | 63 | 34 |38| 50 |16 49 39 M12*1.0P | 1 | 1.2
-PHC18- 90 (115 90 |64 | 26 |47 | 63 | 36 |40| 50 |18 49 39 M12*1.0P | 1 | 1.4
-PHC20- 90 (115 90 |64 | 26 | 48 | 63 | 38 |42| 50 |20 51 41 M16*1.0P | 1 | 1.4
-PHC25-120 (14512094 | 26 |59 | 63 | 53 |57| 53 |25 57 47 M16*1.0P | 2 | 2.1
-PHC32-125 (150/125|99| 26 |63 | 63 | 60 |64| 53 |32 61 51 M16*1.0P | 2 | 2.2

WS BR:

@Ll K Length (L1)
JI¥FE 1R Diameter
IEEfX S Holder type

$ARAZ I, Taper size




HIETIR

S ®
VY w5 %5 O-N-W

-HSK32C-PHC {&EJI#8  Hsk32c-PHC HYDRAULIC TOOL HOLDER

G
HSK. NO D B C1

&

I
=K
S

g E
n
aJ]
]
2
S
3

o

%
= BABARE C BROBARE C1
BS Model d Max. inserticlm dxepth Min insertié)n dxepth
HSK32C-PHC05-65 81 65 [ 45| 20 | 29| 32 | 21 |25| 5 * 26 * 0.5
-PHC06-65 | 81 6545|120 | 29| 32| 22 [26| 40 | 6 37 27 M5*0.8P 0.5
=-PHC08-70 | 86 |70 |50 (|20 |29 32|24 (28| 40 | 8 37 27 M6*1.0P 0.5
-PHC10-75 | 91 75|55 |20 (35| 32|26 (30| 40 |10 41 31 M6*1.0P 0.5
-PHC12-80 | 96 |80 |60 |20 |40 | 32 |28 (32| 40 |12 46 36 M6*1.0P 0.5
A% 5 BE:
$Ll K Length (L1)
JI#FE 1 Diameter
IEE{X S Holder type
AR I, Taper size



B TIRR

® A3
@ O-N-W RETEFEA [

-HSK40C-PHC #®EJI4#8  Hsk4a0c-PHC HYDRAULIC TOOL HOLDER

INFS PR
SIS SHINHI DMNVIAAH

= RABARE C &DEARE C1

BS Model d Max. inserticlm dtpth Min inserti(ljn cTapth
HSK40C-PHC05-60 | 80 | 60|40 | 20 |35|40 |21 25 5 * 26 * 0.4
-PHC06-60 | 80 |60 (40|20 |35(40|22| 26| 6 37 27 M5*0.8P 0.4
-PHC08-60 | 80 |60 |40 |20 | 36|40 |24| 28 | 8 37 27 M6*1.0P 0.4
-PHC10-65 | 85 |65|45|20 41|40 (26| 30 | 10 41 31 M6*1.0P 0.5
-PHC12-70 | 90 |70 |50 | 20 (47|40 |28 32| 12 46 36 M6*1.0P 0.5

A& ER:
@Ll E Length (L1)
JIHFE1Z Diameter
IEEFLS Holder type
$HEFRAZ I Taper size

=10



HIETIR

S ®
VY wE RS %5 O-N-W

-HSK50C-PHC #®EJI#8  Hsks0c-PHC HYDRAULIC TOOL HOLDER

c
HSK.NO [ 8 c1
é B
X 77

_ s < 3 a
F A\ ‘
a7l
5 L3 L2
AN L1
z 5l L

2§ Model | e
HSK50C-PHC05-60 | 85 | 60|34 |26 30|50 |21 25 5 * 26 * 0.6
-PHC06-60 | 85 | 60|34 |26 |30|50 (22| 26| 6 37 27 M5*0.8P 0.6
-PHC08-60 | 85 | 60|34 |26 |30|50 (24| 28| 8 37 27 M6*1.0P 0.6
-PHC10-65 | 90 | 65|39 |26 |35|(50|26| 30| 10 41 31 M8*1.0P 0.7
-PHC12-75 | 100 | 75|49 | 26 |40 | 50 | 28| 32 | 12 46 36 M10*1.0P 0.7
-PHC14-75 | 100 | 75|49 | 26 |40 | 50 | 30| 34 | 14 46 36 M10*1.0P 0.7
-PHC16-80 | 105 | 80 |54 | 26 |50 | 50 [ 34| 38 | 16 49 39 M12*1.0P 0.8
-PHC18-80 | 105 |80 |54 | 26 |50 | 50 | 36| 40 | 18 49 39 M12*1.0P 0.9
-PHC20-80 | 105 |80 |54 | 26 |50 | 50 | 38| 42 | 20 51 41 M16*1.0P 0.9
g ER:
T @Ll K Length(L1)
JIMFE 1R Diameter
IhEE(L S Holder type
$HARAZ I Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK63C-PHC #EJI4#8  Hske3c-PHC HYDRAULIC TOOL HOLDER

NS A
SIS SHINHI DMNVIAAH

B Model e e e
HSK63C-PHCO5- 60 | 92 (60|34 |26 |25|63 21| 25| 5 * 26 * 0.9
-PHC06- 60 92 |60 34|26 |25|63 22| 26| 6 37 27 M5*0.8P 0.9
-PHCO08- 60 92 |60 34|26 |25|63 24| 28| 8 37 27 M6*1.0P 0.9
-PHC10- 65 97 |65|39| 26 31|63 26| 30| 10 41 31 M8*1.0P 1
-PHC12- 75 |107|75[49| 26 |41 |63 |28| 32 | 12 46 36 M10*1.0P 1
-PHC14- 75 107 | 75|49 | 26 |42 | 63 |30| 34 | 14 46 36 M10*1.0P 1.1
-PHC16- 80 (11280 |54 | 26|48 |63 |34 | 38 | 16 49 39 M12*1.0P 1.1
-PHC18- 80 (11280 |54 | 26|48 |63 |36| 40 | 18 49 39 M12*1.0P 1.2
-PHC20- 80 (112|800 |54 | 26 |49 |63 |38| 42 | 20 51 41 M16*1.0P 1.2
-PHC25- 95 (12795 |69 | 26 |63 | 63 |53 | 57 | 25 57 47 M16*1.0P 1.8
-PHC32-100 |132|100| 74| 26 | 60 | 63 |59 | 63 | 32 61 51 M16*1.0P 2
AR ER:
ETE @Ll K Length(L1)
JI#FE 1% Diameter
IHEEC S Holder type
$FRAZ T Taper size

12



HIETIR

S ®
VY wE RS %5 O-N-W

-HSK32A-PHC {EJI#  Hsk32A-PHC HYDRAULIC TOOL HOLDER

el

c
G C1
(AN W
‘— =f 5|8 &
S
s & L4
27 L2
518 L1
AR

2 Model e e
HSK32A-PHC03-80 | 96 |80 | 60 | 20 | 29 | 32 | 20 | 23| 40 3 * 18 * 0.5
-PHC3.175-80 | 96 |80 | 60| 20 | 29| 32 | 20 | 23| 40 | 3175 * 18 * 0.5
-PHC04-80 | 96 |80 | 60| 20 | 29| 32 | 21 | 24| 40 4 * 24 * 0.5
-PHC05-80 | 96 | 80| 60 | 20 | 29 | 32 | 21 | 25| 40 5 * 26 * 0.5
-PHC06-80 | 96 |80 | 60| 20 | 29| 32 | 22 | 26| 40 6 37 27 M5*0.8P 0.5
-PHC08-80 | 96 |80 | 60| 20 | 29| 32 | 24 | 28| 40 8 37 27 M6*1.0P 0.5
-PHC10-85 [ 101 | 85| 65| 20 | 35| 32 | 26 | 30| 40 10 41 31 M6*1.0P 0.5
-PHC12-90 | 106 | 90 | 70 | 20 |40 | 32 | 28 | 32| 40 12 46 36 M6*1.0P 0.5
AR RA:
ETE @Ll K Length(L1)
TJI#FE 1] Diameter
IHEE S Holder type
$EFRAZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK40A-PHC {#EJJ#8  Hsk40A-PHC HYDRAULIC TOOL HOLDER

FIG.1
D G &
HSK. NO & c1
T —— |’7 = 5| 8|8
L4 E3
L3 L2 &
58 =
L1 7 &
L o z
z 3
c 5l &
FIG.2 ol &
Hsk.No D ] &
44 777
I I I R e

L3

25 Model D2 D3| d R eon, Mo
HSK40A-PHCO03- 70 |90 | 70 |50 | 20 | 36 | 40 | 20 [23|33.5| 3 * 18 * 1104
-PHC3.175-70 |90 | 70 | 50 | 20 | 36 | 40 | 20 |23|33.5(3.175 * 18 * 1 (0.4
-PHC04- 70 | 90| 70 |50 | 20 | 36 | 40 | 21 (24|33.5| 4 * 24 * 1104
-PHCO5- 70 | 90| 70 |50 | 20 | 36 | 40 | 21 [25|33.5| 5 * 26 * 1104
-PHC06- 70 (90| 70 |50 | 20|36 | 40 | 22 |26|33.5| 6 37 27 M5*0.8P | 1 | 0.4
-PHC08- 70 (90| 70 |50 | 20| 36 | 40 | 24 |28|33.5| 8 37 27 M6*1.0P | 1 | 0.5
-PHC10- 75 [95| 75 | 55|20 |42 | 40| 26 |30(33.5| 10 41 31 M6*1.0P | 1 | 0.5
-PHC12- 80 |100| 80 | 60 | 20 | 48 | 40 | 28 |32(33.5| 12 46 36 M6*1.0P | 1 | 0.5
-PHC14- 85 [105| 85 | 65|20 |32 |40 | 30 |34| 53| 14 46 36 M8*1.0P | 2 | 0.7
-PHC16- 90 (110 90 | 70 | 20| 37 | 40 | 34 |38| 53 | 16 49 39 M8*1.0P | 2 | 0.8
-PHC18- 95 (115 95 | 75|20 |42 | 40 | 36 |40| 53 | 18 49 39 M8*1.0P | 2 | 0.8
-PHC20-100 |120|100| 80| 20|47 | 40 | 38 (42| 53 | 20 51 41 M8*1.0P | 2 1
AR LRR:
@Ll B Length (L1)
JI#FE 1% Diameter
THEES Holder type
HEARAZ T Taper size

=14



HIZTIN

MR E

oncToos ML Ak E X
*HSK50A-PHC {&EJ] R

=t

S3IS SHINHD DIMNVYHAAH
SN A

FIG.1

HSK. NO

G

5 O0-N-w®

HSK50A-PHC HYDRAULIC TOOL HOLDER

b @&
I

7\

RABARE C ROEARE C1

ES Model Max. insertion depth Min insertion depth
HSK50A-PHC03- 70 | 95 | 70 |44 | 26 (28 | 50 | 20 |23 40| 3 * 18 * 0.7
-PHC3.175- 70 95 | 70 |44 | 26 | 28 | 50 | 20 | 23 {40(3.175 * 18 * 0.7
-PHC04- 70 | 95 | 70 |44 | 26 | 28 | 50 | 21 |24 (40| 4 * 24 * 0.7
-PHCO05- 70 | 95 | 70 (44| 26 | 28 | 50 | 21 | 25|40| 5 * 26 * 0.7
-PHC06- 70 | 95 | 70 |44 | 26 | 28 | 50 | 22 [26|40| 6 37 27 M5*0.8P 0.7
-PHCO08- 70 | 95 | 70 |44 | 26 | 28 | 50 | 24 |28 |40| 8 37 27 M6*1.0P 0.7
-PHC10- 75 [100| 75 |49 | 26 | 34| 50 | 26 [30|40| 10 41 31 M8*1.0P 0.7
-PHC12- 85 |110| 85 [ 59| 26 |44 | 50 | 28 | 32|40 | 12 46 36 M10*1.0P 0.8
-PHC14- 85 [110| 85 |59 | 26 |44 | 50 | 30 [34|40| 14 46 36 M10*1.0P 0.8
-PHC16- 90 |[115| 90 |64 | 26 | 30| 50 | 34 |38 |53| 16 49 39 M10*1.0P 1.1
-PHC18- 90 [115| 90 |64 | 26 |30 | 50 | 36 |40 |57 | 18 49 39 M10*1.0P 1.1
-PHC20- 90 |115| 90 [ 64| 26 | 29 | 50 | 38 |42 |60 | 20 51 41 M10*1.0P 1.1
-PHC25-100 |[125|100| 74 | 26 |43 | 50 | 53 |57 |63 | 25 57 47 M10*1.0P 1.9
-PHC32-110 [135(110|84 | 26 |46 | 50 | 59 |63 |67 | 32 61 51 M10*1.0P 2.1

A& IEER:

JIF¥FE 12 Diameter

@Ll K Length (L1)

I 8

BE1L S Holder type
$EFRAZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK63A-PHC {#EJJH8  Hske3A-PHC HYDRAULIC TOOL HOLDER

FIG.1
HSK. NO G c
c1
Fof 5| 8 8
]
@D
z
L4 & g
L3 L2 e
L1 Ao
L S
%0
FIG.2 c 5) &
D C1 &
HSK. NO , o
7
A 222 L2 7
b e v‘sgg
|
L3 L4
2
L1
L

ES Model d I\fxﬁ:i{t\i?:ﬁz%p(t:h %_l;/l\lii{;;f’c%pﬂ
HSK63A-PHCO03- 70 |(102| 70 |44 | 26 |24 | 63 | 20| 23 | 50 3 * 18 * 1 1

-PHC03.175- 70 [102| 70 |44 | 26 |24 | 63 | 20| 23| 50 (3.175 * 18 * 1 1
-PHCO04- 70 |102| 70 |44 | 26 |24 | 63 | 21 | 24| 50 4 * 24 * 1 1
-PHCO5- 70 |102| 70 |44 | 26 |24 | 63 | 21 | 25| 50 5 * 26 * 1 1
-PHCO06- 70 |102| 70 |44 | 26 |24 | 63 | 22| 26| 50 6 37 27 M5*0.8P | 1 1
-PHCO08- 70 |102| 70 |44 | 26 |24 | 63 | 24| 28| 50 8 37 27 M6*1.0P | 1 1
-PHC10- 80 (11280 (54|26 35|63 |26|30| 50| 10 41 31 M8*1.0P | 1 | 1.1
-PHC12- 85 |117| 85 |59 | 26 |40 | 63 |28 (32| 50 | 12 46 36 M10*1.0P| 1 | 1.1
-PHC14- 85 |117| 85 |59 | 26 |40| 63 |30(34| 50 | 14 46 36 M10*1.0P| 1 | 1.1
-PHC16- 90 |122| 90 |64 | 26 |46 | 63 |34 (38| 50 | 16 49 39 M12*1.0P| 1 | 1.2
-PHC18- 90 [122| 90 (64 | 26 |47 | 63 |36 |40 | 50 | 18 49 39 M12*1.0P| 1 | 1.3
-PHC20- 90 |122| 90 |64 | 26 |48 | 63 |38 |42 | 50 | 20 51 41 M16*1.0P| 1 | 1.3
-PHC25-120 |152|120(94 | 26 | 63| 63 |53 |57 | 63 | 25 57 47 M16*1.0P| 2 [2.16
-PHC32-125 |157|125|99 | 26 | 61| 63 |59 |63 | 69 | 32 61 51 M16*1.0P| 2 | 2.7
-PHC40-140 |172|140|114| 26 | 65| 63 |67 |71 | 74 40 M16*1.0P| 2 | 3.2
-PHC42-140 |172|140|114| 26 | 65| 63 |69 |73 | 74 42 M16*1.0P| 2 | 3.2

FA&IER:
T @Ll KE Length(L1)
TI#FE 1R Diameter
IhEEfXS Holder type
AL Taper size

RS 16



HIZTIN

7 i ®
VY wE RS %5 O-N-W

-HSK63A-JPHC #JEJJ#&  Hske3A-JPHC HYDRAULIC TOOL HOLDER

HSK. NO

')
o

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

HSK63A-JPHC05-120 152 1120194 | 26 | 73| 63 | 21 (25| 50 | 5 * 26 * 1.2
-150 | 182 (150|124| 26 |103| 63 | 21 |25| 50 | 5 * 26 * 1.7

=200 | 232 (200|174| 26 |153| 63 | 21 |25| 50 | 5 * 26 * 1.9

=250 | 282 (250(|224| 26 |203| 63 | 21 |25| 50 | 5 * 26 * 2.1
HSK63A-JPHC06-120 152 1120194 | 26 | 73 | 63 | 22 (26| 50 | 6 37 27 M5*0.8P 1.2
=150 | 182 |150(124| 26 |103| 63 | 22 (26| 50 | 6 37 27 M5*0.8P 1.7

=200 | 232 |200|174| 26 [153| 63 | 22 |26| 50 | 6 37 27 M5*0.8P 1.9

-250 | 282 |250(224| 26 [203| 63 | 22 |26| 50 | 6 37 27 M5*0.8P 2.1
-JPHCO08-120 | 152 |120| 94 | 26 | 74 | 63 | 24 |28| 50 | 8 37 27 M6*1.0P 1.2
=150 | 182 |150|124| 26 [104| 63 | 24 |28| 50 | 8 37 27 M6*1.0P 1.7

-200 | 232 |200|174| 26 [154| 63 | 24 |28| 50 | 8 37 27 M6*1.0P 1.9

=250 | 282 |250(224| 26 |204| 63 | 24 (28| 50 | 8 37 27 M6*1.0P 2.1
-JPHC10-120 | 152 [120| 94 | 26 | 74 | 63 | 26 |30| 50 |10 41 31 M8*1.0P 1.2
=150 | 182 |150(124| 26 [104| 63 | 26 |30| 50 |10 41 31 M8*1.0P 1.7

=200 | 232 |200(174| 26 |154| 63 | 26 [30| 50 |10 41 31 M8*1.0P 1.9

=250 | 282 |250(224| 26 [204| 63 | 26 |30| 50 |10 41 31 M8*1.0P 2.1
-JPHC12-120 | 152 {12094 | 26 | 75| 63 | 28 |32| 50 |12 46 36 M10*1.0P 1.3
=150 | 182 |150(124| 26 [105| 63 | 28 [32| 50 |12 46 36 M10*1.0P 1.7

=200 | 232 |200(174| 26 |155| 63 | 28 |32| 50 |12 46 36 M10*1.0P 1.9

=250 | 282 |250(224| 26 [204| 63 | 28 |32| 50 |12 46 36 M10*1.0P 2.2
-JPHC14-120 152 (120|194 | 26 | 75| 63 | 30 |34| 50 (14 46 36 M10*1.0P 1.3
=150 | 182 |150(124| 26 |105| 63 | 30 |34| 50 |14 46 36 M10*1.0P 1.7

=200 | 232 |200(174| 26 |155| 63 | 30 |34| 50 |14 46 36 M10*1.0P 1.9

=250 | 282 |250(224| 26 [204| 63 | 30 |34| 50 |14 46 36 M10*1.0P 2.2
-JPHC16-120 152 |1120{ 94 | 26 | 76 | 63 | 34 [38| 50 |16 49 39 M12*1.0P 1.4
=150 | 182 |150(124| 26 |106| 63 | 34 |38| 50 |16 49 39 M12*1.0P 2

=200 | 232 |200(174| 26 |156| 63 | 34 |38| 50 |16 49 39 M12*1.0P 2.3

=250 | 282 |250(224| 26 |206| 63 | 34 |38| 50 |16 49 39 M12*1.0P 2.6
-JPHC18-120 | 152 [120| 94 | 26 | 77 | 63 | 36 |40| 50 |18 49 39 M12*1.0P 1.5
-150 | 182 |150(124| 26 |107| 63 | 36 |40| 50 |18 49 39 M12*1.0P 2.1

=200 | 232 |200(174| 26 |157| 63 | 36 |40| 50 |18 49 39 M12*1.0P 2.4

=250 | 282 |250(224| 26 |207| 63 | 36 (40| 50 |18 49 39 M12*1.0P 2.7
=-JPHC20-120 | 152 [120| 94 | 26 | 78 | 63 | 38 |42| 50 |20 51 41 M16*1.0P 1.5
=150 | 182 |150(124| 26 [108| 63 | 38 [42| 50 |20 51 41 M16*1.0P 2.1

=200 | 232 |200(174| 26 |158| 63 | 38 |42| 50 |20 51 41 M16*1.0P 2.4

-250 | 282 |250(224| 26 [208| 63 | 38 (42| 50 |20 51 41 M16*1.0P 2.7

A& IEER:

% L1 4 Length(L1)
JIFFE 1R Diameter
IHBEFLS Holder type

HEFRAZ I Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK8O0A-PHC {#EJJ#8  HsksoA-PHC HYDRAULIC TOOL HOLDER

NS A
SIS SHINHI DMNVIAAH

%5 Model o it Wi oo s
HSK80A-PHCO5- 70 [110| 70 |44 | 26 | 24| 80 | 21 [25| 50 | 5 * 26 * 1.4
-PHC06- 70 |110| 70|44 | 26 |24 | 80 | 22 |26| 50 | 6 37 27 M5*0.8P 1.4
-PHCO08- 70 |110| 70|44 | 26 |24 | 80 | 24 |28| 50 | 8 37 27 M6*1.0P 1.4
-PHC10- 80 |120|80 |54 | 26 |35|80 |26 |30 50 (10 41 31 M8*1.0P 1.5
-PHC12- 85 |125|85|59| 26 |40 |80 |28 |32| 50 (12 46 36 M10*1.0P 1.6
-PHC14- 85 |125|85|59| 26 |40 | 80 | 30 |34| 50 (14 46 36 M10*1.0P 1.6
-PHC16- 95 |135|95|69 | 26 |51 | 80 | 34 |38| 50 (16 49 39 M12*1.0P 1.6
-PHC18- 95 |135|95|69 | 26 | 51 | 80 | 36 |40| 50 (18 49 39 M12*1.0P 1.7
-PHC20- 95 |135|95|69 | 26 | 51 | 80 | 38 |42| 50 (20 51 41 M16*1.0P 1.7
-PHC25-110 |150(110| 84 | 26 | 65| 80 | 53 |57| 63 |25 57 47 M16*1.0P | 2.6
-PHC32-125 | 165|125/ 99 | 26 |63 | 80 | 59 |63| 75 |32 61 51 M16*1.0P 3.1
-PHC40-140 |180(140|114| 26 80 75 |40 M16*1.0P | 3.8
-PHC42-140 |180(140|114| 26 80 75 |42 M16*1.0P | 3.8
A& BR:

HSKS0AE -[0g - qﬂ
L1 & FE Length (L1)
JIHFE 1R Diameter
I8

BE1XS Holder type
AT, Taper size

=18



HIZTIN

S ®
VY wE RS %5 O-N-W

-HSK100A-PHC &EEJI#  Hsk100A-PHC HYDRAULIC TOOL HOLDER

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

%
25 Model | e
HSK100A-PHCO5- 75 [125| 75|46 | 29 | 26 |100| 21 [25| 50 | 5 * 26 * 2.3
-PHCO06- 75 |125| 75|46 | 29 | 26 |100| 22 (26| 50 | 6 37 27 M5%0.8P 2.3
-PHCO08- 75 (125| 75|46 | 29 | 26 |100| 24 (28| 50 | 8 37 27 M6*1.0P 2.3
-PHC10- 90 (140( 90 | 61 | 29 | 42 |100| 26 (30| 50 |10 41 31 M8*1.0P 2.5
-PHC12- 95 145/ 95|66 | 29 | 47 |100| 28 |32| 50 |12 46 36 M10*1.0P | 2.5
-PHC14- 95 145/ 95|66 | 29 |47 |100| 30 (34| 50 |14 46 36 M10*1.0P | 2.5
-PHC16-100 |150({100| 71 | 29 | 53 |100| 34 |38| 50 |16 49 39 M12*1.0P | 2.6
-PHC18-100 (150(100| 71 | 29 | 53 |100| 36 (40| 50 |18 49 39 M12*1.0P | 2.6
-PHC20-105 |155{105| 76 | 29 | 59 [100| 38 (42| 50 |20 51 41 M16*1.0P | 2.7
-PHC25-110 (160(110| 81 | 29 | 62 [100| 53 |57| 63 |25 57 47 M16*1.0P | 3.3
-PHC32-110 |160(110| 81 | 29 | 62 [100| 59 (63| 75 |32 61 51 M16*1.0P | 3.5
-PHC40-140 (190(140|111| 29 100 40 M16*1.0P 4
-PHC42-140 |190(140|111| 29 100 42 M16*1.0P 4
-PHC50- 29 100 50 M16*1.0P 5
AR RA:
T ﬁLl K Length(L1)
JIFFE 1R Diameter
IHREFLS Holder type
$EFRAZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK100A-JPHC i EJJ#  Hsk100A-JPHC HYDRAULIC TOOL HOLDER

JNHS AR
SIS SHINHI DMNVIAAH

&S Model q BABAREC BRMENRECT

Max. insertion depth Min insertion depth

HSK100A-JPHC05-150 | 200 (150({121| 29 |101|{100| 21 |25| 50 | 5 * 26 * 2.6
=200 |250|200(171| 29 (151|100 21 |25| 50 | 5 * 26 * 2.8
=250 |300(250(|221| 29 |201|100| 21 |25| 50 | 5 * 26 * 3.1
HSK100A-JPHC06-150 | 200 [150({121| 29 |101|{100| 22 |26| 50 | 6 37 27 M5*0.8P 2.6
=200 |250(200|{171| 29 |151|100| 22 |[26| 50 | 6 37 27 M5*0.8P 2.8
=250 |300|250({221| 29 |201|100| 22 |[26| 50 | 6 37 27 M5*0.8P 3.1
-JPHCO08-150 | 200 |150({121| 29 |101|100| 24 |28| 50 | 8 37 27 M6*1.0P 2.6
-200 |250(200|{171| 29 |151|100| 24 (28| 50 | 8 37 27 M6*1.0P 2.8
-250 |300|250({221| 29 |201|100| 24 |28| 50 | 8 37 27 M6*1.0P 3.1
-JPHC10-150 | 200 |150({121| 29 |102|100| 26 |30| 50 |10 41 31 M8*1.0P 29
-200 |250(200|{171| 29 |152|{100| 26 |30| 50 |10 41 31 M8*1.0P 3.2
-250 |300|250(221| 29 |202|{100| 26 |30| 50 |10 41 31 M8*1.0P 3.5
-JPHC12-150 | 200 |150({121| 29 |102|100| 28 |32| 50 |12 46 36 M10*1.0P | 2.9
-200 |250(200|{171| 29 |152|100| 28 |32| 50 |12 46 36 M10*1.0P | 3.2
-250 |300|250(221| 29 |202|100| 28 |32| 50 |12 46 36 M10*1.0P | 3.5
-JPHC14-150 | 200 |150({121| 29 |102|100| 30 |34| 50 |14 46 36 M10*1.0P | 2.9
-200 |250(200|{171| 29 |152|100| 30 |34| 50 |14 46 36 M10*1.0P | 3.2
-250 |300|250(221| 29 |202|100| 30 |34| 50 |14 46 36 M10*1.0P | 3.5
-JPHC16-150 | 200 |[150({121| 29 |103|100| 34 |38| 50 |16 49 39 M12*1.0P | 3.1
=200 | 250 (200({171| 29 [153|100| 34 [38| 50 (16 49 39 M12*1.0P | 3.6
-250 | 300 (250(221| 29 |203|100| 34 |38| 50 |16 49 39 M12*1.0P | 4.
-JPHC18-150 |200 [150(121| 29 [103|100| 36 [40| 50 (18 49 39 M12*1.0P | 3.1
=200 | 250 (200({171| 29 [153|100| 36 [40| 50 (18 49 39 M12*1.0P | 3.6
-250 |300(250(221| 29 |203|100| 36 [40| 50 (18 49 39 M12*1.0P | 4.
-JPHC20-150 | 200 |150({121| 29 [104|/100| 38 |42| 50 |20 51 41 M16*1.0P | 3.2
=200 |250(200|{171| 29 |154|100| 38 |42| 50 |20 51 41 M16*1.0P | 3.7
=250 |300(250({221| 29 |204|100| 38 |42| 50 |20 51 41 M16*1.0P | 4.2
A&t RE:
@_1 K Length (L1)
JIFFE 1 Diameter
THEEfLS Holder type
$ERAZ T Taper size

=20



HIETIR

S ®
VY wE RS %5 O-N-W

-HSK50E-SPHC #&JEJJ#A  Hsk50E-SPHC HYDRAULIC TOOL HOLDER

D

HSK. NO

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

1l BRABARE C MEARE C1

Max. insertion depth  Min insertion depth
HSK50E-SPHC03-115 140 (11589 | 26 | 42| 50 | 11 46 | 3 * 18 * 0.6
-SPHC04-115 |140(|115|89 | 26 | 42| 50 | 11 46 | 4 * 24 * 0.6
-SPHCO05-115 | 140|115/ 89| 26 | 42| 50 | 12 46 | 5 * 26 * 0.6
-SPHC06-145 |170(145|119| 26 | 74 | 50 | 13 46 | 6 37 27 M5*0.8P 1.1
-SPHC08-145 170 |145(119| 26 | 74 | 50 | 15 46 | 8 37 27 M6*1.0P 1.1
-SPHC10-145 | 170 |145|119| 26 | 74 | 50 | 17 46 |10 41 31 M8*1.0P 1.1
-SPHC12-145 |170|145|119| 26 | 75| 50 | 19 46 |12 46 36 M10*1.0P 1.1

R ER:
? L1 4 Length(L1)
JIFFE 1 Diameter
IHEEL S Holder type
SEFRFZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK50A-SPHC #EEJI4A  Hsk50A-SPHC HYDRAULIC TOOL HOLDER

NS A
SIS SHINHI DMNVIAAH

RABARE C RMEARE C1

Max. insertion depth Min insertion depth

HSK50A-SPHC03-115 140|115/ 89 | 26 | 42| 50 | 11 46 | 3 * 18 * 0.6
=SPHC04-115 |140(115{89 | 26 | 42| 50 | 11 46 | 4 * 24 * 0.6
=SPHCO05-115 |140(115{89 | 26 |42 | 50 | 12 46 | 5 * 26 * 0.6
-SPHC06-145 |170(145(119| 26 | 74 | 50 | 13 46 | 6 37 27 M5*0.8P 1.1
=-SPHC08-145 |170(145|119| 26 | 74 | 50 | 15 46 | 8 37 27 M6*1.0P 1.1
=SPHC10-145 |170(145|119| 26 | 74 | 50 | 17 46 |10 41 31 M8*1.0P 1.1
=SPHC12-145 |170(145(119| 26 | 75| 50 | 19 46 (12 46 36 M10*1.0P 1.1

FA& W ER:
? L1 4 Length(L1)
JIFFE 1 Diameter
IhAE{X S Holder type
SEFRFZ T Taper size

22



HIZTIN

7 i ®
VY wE RS %5 O-N-W

-HSK63A-SPHC #EJEJI#A  Hsk63A-SPHC HYDRAULIC TOOL HOLDER

&

ol
L —

I
=K
S

g E
n
aJ]
]
2
S
3

a

BS Model d Exﬁji{t\igfg%pfh E:EI:'I/I::SEE{;?:EE;DE:

HSK63A-SPHC03-100 |132|100| 74 | 26 | 42 | 63 | 11 46 | 3 * 18 * 0.9
-130 |162|130|104| 26 | 72| 63 | 11 46 | 3 * 18 * 1
-SPHCO04-100 |132(100| 74| 26 | 42| 63 | 11 46 | 4 * 24 * 0.9
=130 |162|130|104| 26 | 72| 63 | 11 46 | 4 * 24 * 1
-SPHCO05-100 | 132 (100| 74 | 26 | 42 | 63 | 12 46 | 5 * 26 * 0.9
=130 |162|130|104| 26 | 72| 63 | 12 46 | 5 * 26 * 1
-SPHC06-130 |162|130(104| 26 | 74| 63 | 13 46 | 6 37 27 M5*0.8P 1.2
-160 |192|160|134| 26 |104| 63 | 13 46 | 6 37 27 M5*0.8P 1.3

-200 |232|200|174| 26 |144| 63 | 13 46 | 6 37 27 M5*0.8P 1.4
-SPHC08-130 |162|130({104| 26 | 74| 63 | 15 46 | 8 37 27 M6*1.0P 1.2
-160 |192|160|134| 26 |104| 63 | 15 46 | 8 37 27 M6*1.0P 1.3

-200 |232(200|174| 26 |144| 63 | 15 46 | 8 37 27 M6*1.0P 1.4
-SPHC10-130 |162|130|104| 26 | 74 | 63 | 17 46 |10 41 31 M8*1.0P 1.2
-160 |192|160|134| 26 |104| 63 | 17 46 |10 41 31 M8*1.0P 1.3

=200 |232|200|174| 26 |144| 63 | 17 46 |10 41 31 M8*1.0P 1.4
-SPHC12-130 | 162 |130({104| 26 | 75| 63 | 19 46 |12 46 36 M10*1.0P | 1.2
-160 |192|160|134| 26 |105| 63 | 19 46 |12 46 36 M10*1.0P | 1.3

-200 |232|200|174| 26 |145| 63 | 19 46 |12 46 36 M10*1.0P | 1.4
-SPHC14-130 | 162 (130|104| 26 | 75| 63 | 21 46 |14 46 36 M10*1.0P | 1.3
-160 | 192 (160|134 26 |105| 63 | 21 46 |14 46 36 M10*1.0P | 1.4

-200 |232|200(|174| 26 |145| 63 | 21 46 |14 46 36 M10*1.0P | 1.5
-SPHC16-130 | 162 |130(104| 26 | 76 | 63 | 23 50 |16 49 39 M12*1.0P | 1.3
-160 |192|160|134| 26 |106| 63 | 23 50 |16 49 39 M12*1.0P | 1.4

-200 |232|200|174| 26 |146| 63 | 23 50 |16 49 39 M12*1.0P | 1.5
-SPHC18-130 | 162 |130({104| 26 | 76 | 63 | 25 50 |18 49 39 M12*1.0P | 1.4
-160 |192|160|134| 26 |106| 63 | 25 50 |18 49 39 M12*1.0P | 1.5

-200 |232|200|174| 26 |146| 63 | 25 50 |18 49 39 M12*1.0P | 1.6
-SPHC20-130 |162|130({104| 26 | 77 | 63 | 27 50 |20 51 41 M16*1.0P | 1.4
-160 |192|160|134| 26 |107| 63 | 27 50 |20 51 41 M16*1.0P | 1.5

-200 |232(200|174| 26 |147| 63 | 27 50 |20 51 41 M16*1.0P | 1.6

AR ER:

? E L1 KE Length(L1)
JIFFE 4R Diameter
|

IHEEfLS Holder type
$EFRAZ T Taper size



B TIRR

® 1R L
@ O-N-W HETIHES c@gs

-HSK100A-SPHC & EJJ#  Hsk100A-SPHC HYDRAULIC TOOL HOLDER

D
HSK. NO [

)

E——— s ) N
= of—=
L4 - z
& S
L1 . j:T: %
L Ja
we
= = e
ES Model D1 D2 D3 d Max. insertion Epsh EIVIEi:\/I\i?Eertion{igep%:lI ﬁua
HSK100A-SPHCO05-150 | 200 |[150({121| 29 | 90 |100| 12 50 | 5 * 26 * 2.9
-200 |250|200(171| 29 (140|100| 12 50 | 5 * 26 * 3.1
=250 |300|250(221| 29 (190|100| 12 50 | 5 * 26 * 3.3
-300 |350|300(271| 29 (240|100| 12 50 | 5 * 26 * 3.5
-SPHC06-150 |200(150|{121| 29 | 90 |100| 13 50 | 6 37 27 M5*0.8P 2.9
=200 |250(200(171| 29 (140|100| 13 50 | 6 37 27 M5*0.8P 31
-250 |300|250(221| 29 [190|100| 13 50 | 6 37 27 M5*0.8P 3.3
-300 |350(300(271| 29 (240|100| 13 50 | 6 37 27 M5%0.8P 3.5
-SPHC08-150 |200|150|121| 29 | 90 |100| 15 50 | 8 37 27 M6*1.0P 2.9
=200 |250|200(171| 29 (140|100| 15 50 | 8 37 27 M6*1.0P 3.1
-250 |300|250(221| 29 (190|100| 15 50 | 8 37 27 M6*1.0P 3.3
-300 |350|300(271| 29 (240|100| 15 50 | 8 37 27 M6*1.0P 3.5
-SPHC10-150 |200|150{121| 29 | 90 |100| 17 50 |10 41 31 M8*1.0P 2.9
-200 |250|200(171| 29 (140|100 17 50 (10 41 31 M8*1.0P 3.1
-250 |300|250(221| 29 (190|100 17 50 |10 41 31 M8*1.0P 3.3
-300 |350|300(271| 29 (240|100| 17 50 |10 41 31 M8*1.0P 3.5
-SPHC12-150 |200|150|{121| 29 | 90 |100| 19 50 |12 46 36 M10*1.0P B
-200 |250|200(171| 29 (140|100| 19 50 |12 46 36 M10*1.0P | 3.2
-250 |300|250(221| 29 (190|100| 19 50 |12 46 36 M10*1.0P | 3.4
=300 |350|300(271| 29 (240|100| 19 50 |12 46 36 M10*1.0P | 3.6
-SPHC14-150 | 200 |150({121| 29 | 90 |100| 21 50 |14 46 36 M10*1.0P 3
=200 | 250 (200(171| 29 [140|100| 21 50 |14 46 36 M10*1.0P | 3.2
-250 |300|250(221| 29 |190|100| 21 50 |14 46 36 M10*1.0P | 3.4
-300 |350|300(|271| 29 240|100 21 50 |14 46 36 M10*1.0P | 3.6
-SPHC16-150 |200 (150|121 29 | 90 | 100| 23 50 |16 49 39 M12*1.0P | 3.2
-200 |250(200(171| 29 (140|100| 23 50 |16 49 39 M12*1.0P | 3.4
=250 | 300 [250(2217| 29 [190|100| 23 50 |16 49 39 M12*1.0P | 3.6
H-300 | 350 |300(271| 29 [240(100| 23 50 |16 49 39 M12*1.0P | 3.8
-SPHC18-150 |200|150|{121| 29 | 90 |100| 25 50 |18 49 39 M12*1.0P | 3.2
-200 |250|200(171| 29 (140|100| 25 50 |18 49 39 M12*1.0P | 3.4
=250 |300|250(221| 29 (190|100 | 25 50 |18 49 39 M12*1.0P | 3.6
-300 |350|300(271| 29 (240|100| 25 50 |18 49 39 M12*1.0P | 3.8
-SPHC20-150 |200|150|121| 29 | 90 |100| 27 50 |20 51 41 M16*1.0P | 3.4
=200 |250|200(171| 29 (140|100 | 27 50 |20 51 41 M16*1.0P | 3.6
-250 |300|250(221| 29 (190|100 | 27 50 |20 51 41 M16*1.0P | 3.8
-300 |350|300(271| 29 (240|100| 27 50 |20 51 41 M16*1.0P 4
R ER:
@_1 K Length(L1)
JJ#FE 1% Diameter
IhEE{X S Holder type
HEFRAZ T Taper size

24



HIETIR

S ®
VY wE RS %5 O-N-W

-HSK63A-ZPHC EZ®WEJI  Hske3A-zPHC ZERO FIT HYDRAULIC TOOL HOLDER

T YFREIRET
zero fit screw

HSK. NO % G C

&

=

I
=K
S

g E
n
aJ]
]
2
S
3

a

S Model D e i s i oo o
HSK63A-ZPHCO05- 90 122/ 90 | 64 | 26 | 44 | 63 | 21 | 25|50 | 5 * 26 * 1.2
-ZPHCO06- 90 (122| 90 | 64 | 26 | 44 | 63 | 23 | 26 | 50 | 6 41 31 M5*0.8P | 1.2
-ZPHCO08- 90 (122| 90 | 64 | 26 | 44 | 63 | 25| 28 | 50 | 8 41 31 M6*1.0P | 1.2
-ZPHC10- 95 (127| 95 |69 | 26 | 50 | 63 | 27 | 30 | 50 | 10 48 38 M8*1.0P | 1.3
-ZPHC12-100 [132|100| 74 | 26 | 55 | 63 | 29 | 32 | 50 |12 53 43 M10*1.0P | 1.3
-ZPHC16-105 [137|105| 79 | 26 | 61 | 63 | 35| 38 | 50 | 16 58 48 M12*1.0P | 1.4
-ZPHC20-105 [137|105| 79 | 26 | 63 | 63 | 39 | 42 | 50 | 20 58 48 M16*1.0P | 1.5
-ZPHC25-115 |147|115| 89 | 26 | 89 | 63 | 46 | 50 | * |25 67 57 M16*1.0P | 2.6
-ZPHC32-130 [162|130|104| 26 |104| 63 | 56 | 60 [52.5| 30 71 61 M16*1.0P | 3.2
MRS RA:

? @Ll K Length(L1)
JIHFE1E Diameter
108

BEfL S Holder type
H$EARFZ T, Taper size



B TIRR

® A3
@ O-N-W RETEF [

-HSK100A-ZPHC Bl Z & EJI4A Hsk100A-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

X FHEIRST

zero fit screw

NS A
SIS SHINHI DMNVIAAH

BRABARE C RMEANRE C1

Max. insertion depth  Min insertion depth

HSK100A-ZPHCO05- 95 |145| 95|66 | 29 | 46 |100| 22 |25| 50 | 5 * 26 * 2.8
-ZPHCO06- 95 |145|95 |66 | 29 | 46 |100| 23 [26| 50 | 6 41 31 M5*0.8P | 2.8
-ZPHCO08- 95 |145| 95|66 | 29 | 46 |100| 25 |28| 50 | 8 41 31 M6*1.0P | 2.8
-ZPHC10-100 | 150|100 71 | 29 | 52 |100| 27 |30| 50 |10 48 38 M8*1.0P 2.9
-ZPHC12-105 | 155|105 76 | 29 | 57 |100| 29 |32| 50 |12 53 43 M10*1.0P 3
-ZPHC16-110 |160|110| 81 | 29 | 63 |100| 35 |38| 50 |16 58 48 M12*1.0P | 31
-ZPHC20-110 |160|110| 81 | 29 | 64 |100| 39 (42| 50 |20 58 48 M16*1.0P | 3.4
-ZPHC25-120 |170|120| 91 | 29 |72 |100| 53 |57| 63 |25 67 57 M16*1.0P | 3.8
-ZPHC32-120 |170|120{ 91 | 29 | 72 |100| 58 |63| 75 |32 71 61 M16*1.0P | 4.2
A% BR:

? $Ll K Length(L1)
JIHFE1Z Diameter
I8

BEfL S Holder type
SRR T, Taper size

= 26



HIZTIN

S ®
VY wE RS %5 O-N-W

‘SL-PHC ;% EJJ4§ sL-PHC HYDRAULIC TOOL HOLDER

C
G
C1
r = o R, H—raln
1 3 |
! TEEESmTTE—— =
S\ W . W HEEARET
g :& i . L2 (I) zero fit screw
z T L1
g E
2 7] L
]
AR
z 5
BRABARE C &OEANRE Q1
Max. insertion depth Min insertion depth
SL20-PHCO06-165 165|101 | 50 | 20 | 16 | 24 | 42 | 6 41 31 M5*0.8P 0.5
-PHC08-165 165|101 | 50 | 20 | 18 | 26 | 42 | 8 41 31 M6*1.0P 0.5
-PHC10-165 165|101 | 50 | 20 | 20 | 28 | 42 |10 48 38 M8*1.0P 0.6
-PHC12-165 165|101 | 50 | 20 | 22 | 30 | 42 |12 53 43 M10*1.0P 0.7
-PHC14-165 165|101 | 50 | 20 | 24 | 32 | 42 |14 53 43 M10*1.0P 0.7
-PHC16-165 165|101 | 50 | 20 | 26 | 28 | 42 |16 58 48 M12*1.0P 0.8
-PHC18-165 165|101 | 50 | 20 | 28 | 30 | 42 |18 58 48 M12*1.0P 0.8
-PHC20-165 165|101 | 50 | 20 | 29 [31.5| 42 |20 58 48 M16*1.0P 0.8
-PHC20-215 2151151 | 50 | 20 | 29 |31.5| 42 |20 58 48 M16*1.0P 1.2
A% RA:
; L £Z Length (L)
JI#FE 1] Diameter
IHEEfL S Holder type
AT I, Taper size

27 <ig



B TIRR

® A3
@ O-N-W RETEF [

SL-HDC ;EMQMHLEETIHR  SL-HDC SLIDING HEADSTOCK MACHINE HYDRAULIC TOOL HOLDER

M) TR 246

5 ] | i R (PT) 1/8
5 !
ol .

JNHS AR
SIS SHINHI DMNVIAAH

2% Model | T
SL19.05-HDC 3-60* 75| 60 | 15 |24.5|15.8/22[19.05| 3 20-32 16 0.18
-HDC3.175-60* | 75 | 60 | 15 | 24.5|15.8| 22 [19.05| 3.175 20-32 16 0.18
-HDC 4-60 75 | 60 | 15 [24.5]15.8/22|19.05| 4 23-32 19 0.18
-HDC 6-60 75 | 60 | 15 [24.5|15.8/22|19.05| 6 31-48 25 0.18
-HDC 8-60X 75| 60 | 15 |25.5(15.8/ 22 |19.05| 8 65 31 017
SL20-HDC 3-70* 85 | 70 | 15 |24.5|15.8| 23| 20 3 20-32 16 0.22
-HDC 4-70 85 | 70 | 15 |24.5|15.8| 23| 20 4 23-32 19 0.22
-HDC 6-70 85| 70 | 15 |24.5(15.8] 23| 20 6 31-48 25 0.22
-HDC 8-70X 85 | 70 | 15 | 25.5|15.8| 23| 20 8 75 31 0.21
SL22-HDC 3-70* 85 | 70 | 15 | 24.5|15.8| 25| 22 3 20-32 16 0.26
-HDC 4-70 85 | 70 | 15 |24.5|15.8| 25| 22 4 23-32 19 0.26
-HDC 6-70X 85 | 70 | 15 |24.5(15.8]| 25| 22 6 75 25 0.26
-HDC 8-70X 85 | 70 | 15 | 25.5|15.8| 25| 22 8 75 31 0.25
-HDC10-70X 85 | 70 | 15| 27 |16.8| 25| 22 10 70 33 0.24
SL25-HDC 3-65* 80 | 65 | 15| 23 | 14 | 28| 25 3 20-32 16 0.31
-HDC 4-65 80| 65 | 15| 23 | 14 | 28| 25 4 23-32 19 0.31
-HDC 6-65 80 | 65 | 15 (24.5| 15 | 28| 25 6 31-48 25 0.31
-HDC 8-65X 80 | 65 | 15 | 25.5]| 16 | 28| 25 8 70 31 0.31
-HDC10-65X 80| 65 | 15| 27 | 17 | 28| 25 10 65 33 0.29
-HDC12-65X 80 | 65 | 15| 28 | 18 | 28| 25 12 65 36 0.28
SL25.4-HDC 3-80* 95 | 80 |15 | 23 | 14 [ 28| 25.4 3 20-32 16 0.37
-HDC 4-80 95 | 80 | 15| 23 | 14 [ 28| 25.4 4 23-32 19 0.37
-HDC 6-80 95 | 80 | 15 |24.5| 15 |28 | 25.4 6 31-48 25 0.37
-HDC 8-80X 95 | 80 | 15 |25.5| 16 |28 | 25.4 8 85 31 0.37
-HDC10-80X 95 | 80 |15 | 27 | 17 | 28| 254 | 10 80 33 0.35
-HDC12-80X 95 | 80 | 15| 28 | 18 |28 | 254 | 12 80 36 0.33
AR LRR:
@_l K Length (L1)
JIFFE 1R Diameter
IhEEX S Holder type
S$EFRFZ T Taper size

= 28



HIZTIN

7 i ®
VY wE RS %5 O-N-W

SL-HDC ;EMQMHLEETIHR  SL-HDC SLIDING HEADSTOCK MACHINE HYDRAULIC TOOL HOLDER

FIG.1
BABNREC
. Rc (RT)1/8
RE\AE o RT)

\
—.-'JJ i

L3| L3

L.=h6 dia.
n.31mm
D
D1
d

|

|

)
=

5 L1 L2 W
S &

g E

27

5 FIG.2 .

g5 BAMNREC Rc (RT)1/8

25 Model o erion oo Mo depn 10
SL19.05F-HDC3-85* 102| 85 | 17 |13.5| 5 | 22|19.05| 14 3 76 16 1 ]0.24
-HDC3.175-85* 102 | 85 | 17 |13.5| 5 | 22 |19.05| 14 |3.175 76 16 1 ]0.24
-HDC4-85 102| 85 | 17 |13.5| 5 | 22|19.05| 14 4 76 19 1 ]0.24
-HDC6-80 97 | 80 | 17 | 13.5] - |22 ]19.05| - 6 71 25 1 ]0.22
-HDC8-80 97 | 80 | 17 | 13.5] - |22 ]19.05| - 8 71 31 1 ]0.21
SL20F-HDC3-75* 92 | 75 | 17 |13.5] 5 |23 | 20 | 14 3 66 16 1 ]0.24
-HDC4-75 92 | 75 | 17 |13.5] 5 |23 | 20 | 14 4 66 19 1 ]0.24
-HDC6-70 87 | 70 | 17 |13.5] - | 23| 20 = 6 61 25 1T 10.22
-HDC8-70 87 | 70 | 17 |13.5] - | 23| 20 = 8 61 31 1 ]0.21
SL22F-HDC3-75* 92 | 75 | 17 |13.5] 5 |25] 22 | 14 3 66 16 1 ]0.28
-HDC4-75 92 | 75 | 17 |13.5] 5 |25] 22 | 14 4 66 19 1 ]0.28
-HDC6-70 87 | 70 | 17 |13.5] - | 25| 22 = 6 61 25 1T 10.26
-HDC8-70 87 | 70 | 17 |13.5] - | 25| 22 = 8 61 31 1 10.25
-HDC10-70 87 | 70 | 17 |13.5] - | 25| 22 = 10 61 33 1 ]0.22
SL25F-HDC3-110* 10| - = = 7| - 25 | 14 3 82 16 2 | 0.37
-HDC4-110 10| - = = 7| - 25 | 14 4 82 19 2 | 0.37
-HDC6-105 105| - = = 3 - 25 | 14 6 77 25 2 | 034
-HDC8-100 100| - = = 3 - 25 | 17 8 72 31 2 | 0.31
-HDC10-95 95 = = = = | = 25 = 10 67 33 2 |0.28
-HDC12-90 90 | - = = = | = 25 = 12 61 36 2 |0.24
SL25.4F-HDC3-105* 105| - = = 7| - 125414 3 77 16 2 | 0.36
-HDC4-105 105| - = = 7| - 125414 4 77 19 2 | 0.36
-HDC6-100 100| - = = 3] -1254|14 6 72 25 2 | 034
-HDC8-95 95 = = = 3| - 125417 8 67 31 2 0.3
-HDC10-90 0 | - = = - | -1254]| - 10 62 33 2 | 0.27
-HDC12-85 85 = = = - | -1254]| - 12 56 36 2 |0.24

AR RA:

L1 KE Length (L1)
JIFFE & Diameter
IHEEFL S Holder type
HIRAZ T Taper size



B TIRR

® A3
@ O-N-W RETEFEA [

‘SL-HDC ;EQOHLEETIHA  SL-HDC SLIDING HEADSTOCK MACHINE HYDRAULIC TOOL HOLDER

RN REC
2-94.5 12.5 EIANRECT M6

P X |/

I I -/ H l
S s BN = e
kj © LS © © 53
N | © R
12 kL2 75
: L1 25 5 2
W1 | w2 L ; 2

2 Model O o neotn o mrtenepn  EE KGS
SL22R-HDC3-40* 65 | 40 7 16.5 16.5 14 3 35 16 0.34
-HDC4-40 65 | 40 9 16.5 16.5 14 4 42 19 0.33
-HDC6-40 65 | 40 5 16.5 16.5 18 6 55 25 0.36
-HDC8-40 65 | 40 6 16.5 17.5 20 8 54 31 0.36
-HDC10-40 65 | 40 6 16.5 17.5 22 10 54 33 0.35
FAg AR
T T L1 ¥ Length(L1)
JIF¥FE1Z Bore dlamenter
IHEES Holder type
SEFRFZ T Taper size

RS 0



HIETIR

MR &

5 O0-N-w®

oncroos B e A E X
MEEMURL
SBT BHEMLHFEH
SBT SPINDLE SYSTEM

SBTH A E {i

BT{R7: 2448/ 3 {

O EIHITENEMRY, X
T sEE. I [E B R E E i
E,g/%ébo

S

T

2 7]

1

S

gﬁu

4 )

SBT 71N EMRA:
0 REINIXREEIEMNINIRTEE
® 7] HE%Ed
o SN EEEUIH

\_

2@ ATC BnpiTINEERE
RNESRY Z A mREE
BEFIMNINEE

=
=1

=

=

)

ANENTimEXERER! !

IR EEER, NI,

TIRERIIRN, 5EHBEAH/NER, @B
NSRBI, THMESERESEY K, K
HEEM S, AL, BHIRGEEWGHAEIFEEE,

(&EE)
#40 800Kg 20um
#50 2000Kg 20pm

ERPIBERBSE, HABRTMPRREENETR. (&
AR ITAOHISEE)

SBT 7J##
|
SBT 71##
TR
o
T
@eangE @:@ ,,,,, L
) —
Y t >

RIENFRIE, EEERHANMME, @/ BT
TIMNEEERER#HMNRGER. MikEEWH
SBT RAENEEERRIE=IMZ. Ft, SBT JIHA
MR T EZ1E58,

SBT50
BT30 4% | d31.75 ¢46 g
BT40 $1 | 944.45 163 "53
BT50 4% | $69.85 100

“SBT 4 “5” SBT JJW “MIRIB4AS

SBT i

I
I

BT x5
+

.
[B] &t

) o

TIRPRIGE B RS, HAaRTHLL MAS-BT MM iRk,

SBT i A 4iEiLHE SBT IS SBT X4, ofRAMEMRIER
HEEMKIMEEE. SBT 7Rt Al ERREMEMEHN BT i, 85X
MIER T EREEMNIIEE. AT ZAEREEMNRRIELE, BE
SBT 5 SBT 7], S4b, 5 SBT JJARLLIMY G i E 11
TIREY, AIAERIRANREM, BUEER.

EINAE SBT Fihh{Em SBT 77

Y507 SBT FidhSEA SBT 714%A0 BT JJiR.




B TIRR

® A3
@ O-N-W RETEF [

-BERH REFERENCE DETAILS

NS A
SIS SHINHI DMNVIAAH

#HE Model
SBT30 46 | 31.75 | 56.14 | 38 12.5 16.1 8 70.4 | 48.4 34 24 21 1 M12*1.75P
SBT40 63 | 44.45 |75.679| 53 17 16.1 10 924 | 65.4 43 30 26 1 M16*2.0P
SBT50 100 | 69.85|119.02| 83 25 25.7 15 |139.8| 101.8 62 45 36.5 1.5 M24*3.0P
ST

OHERE: <AT3

OEAME: JIS-SCM4A15 or JIS SNCM220 or JIS SNCM439

OMWEE: HRC56° ~58° BHFE >0.8mm

OERE: <0.8um

OXMEAME: Ra<0.5um

OTIMAMKRTI BIMEE : BT V BUEZ IR H/K#ME (DIN-69871-AD+B)

© ER, EOC, FMA, FMB, MLC, MLD, MLT, SCK, SFC, SKS. SLN (DIN, FID, JIS) . SOM. TG BE&&: B JIHRARMRD O H K
# (DIN-69871-AD)

O JIWMBEFIRIRESN T4 G6.3, TIBIMEEREZEITE G2.5

OA{AM3E: BIG-PLUS

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm

© Roundness<0.8um

© Surface roughness:Ra<0.5um

© Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA, FMB, MLC, MLD, MLT, SCK, SFC. SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:BIG-PLUS

=32



HIZTIN

S ®
VY wE RS %5 O-N-W

-SBT30-PHC ##E[=JJ#8  sBT30-PHC HYDRAULIC TOOL HOLDER

FIG.1
c
SBT. NO D G [
227 227
- I- —| —f 5/8|8
3 o 4
3R L2
s E L1
I}
aJ]
c
g 7
i
C
FIG.2 o
D g /
SBT. NO
N7 77
g <l 5| & 8

3 ©

L1

7}
2

ES Model d Exf:i{t\izﬁfg%p(t:h %ﬁisﬁe{t\l;f}ipfg
SBT30-PHCO03 - 60 |108.4| 60 | 38 | 22 | 28| 46 [20|23|45| 3 * 18 * 1| 075
-PHC3.175- 60 | 108.4| 60 | 38 | 22 | 28 | 46 |20|23|453.175 * 18 * 1| 0.75
-PHCO04- 60 |108.4| 60 | 38| 22 | 28| 46 |21 |24|45| 4 * 24 * 1| 0.75
-PHCO05- 60 |108.4| 60 | 38| 22 | 28| 46 |22|25|45| 5 * 26 * 1| 0.75
-PHCO06- 70 [118.4| 70 |48 | 22 |28 | 46 [23|26(45| 6 37 27 M5*0.8P | 1 0.8
-PHCO08- 70 |118.4| 70 | 48 | 22 | 28| 46 |25|28|45| 8 37 27 M6*1.0P | 1 | 0.85
-PHC10- 75 |123.4| 75 | 53| 22 | 36| 46 |27 |30|45| 10 41 31 M8*1.0P | 1 | 0.85
=PHC12- 75 |123.4| 75 | 53| 22 | 36| 46 |29|32|45| 12 46 36 M10*1.0P| 1 | 0.85
-PHC14- 85 [133.4| 85 | 63| 22 (44| 46 [31(34(45| 14 46 36 M10*1.0P| 1 | 0.95
-PHC16- 90 |138.4| 90 | 68 | 22 |48 | 46 |35|38|45| 16 52 39 M12*1.0P| 1 | 1.05
-PHC18- 90 |138.4| 90 | 68 | 22 |48 | 46 |37 |40|45| 18 52 39 M12*1.0P | 1 1.1
-PHC20- 90 |138.4| 90 | 68 | 22 |48 | 46 |39 |42|45| 20 52 41 M16*1.0P| 1 | 115
-PHC25-105 | 153.4|105| 83 | 22 |44 | 46 |52|55|63| 25 80 47 M16*1.0P | 2 | 1.65
-PHC32-105 | 153.4|105|83 | 22 |39 | 46 |57 |60(68| 32 80 51 M16*1.0P | 2 1.8
AR RA:
? @ L1 ¥E Length(L1)
JIFFE 1R Diameter
IEES Holder type
AL Taper size



B TIRR

® A3
@ O-N-W RETEF [

-SBT40-PHC i##5[=7J#8  sBT40-PHC HYDRAULIC TOOL HOLDER

FIG.1

D
I c

Fof 5

D2
D3

JNFS AR

e
=
S
Pl
>
c
=
a
o
T
c
o
~
10
©n
m
2
m
«n

FIG.2 c1

= 3= =Y =
BES Model hfxﬁjgzae{t\iclmfipfh El\fl_{l:\/llisﬁe{;éﬁjip(t:i;l

SBT40-PHCO03- 75 | 140.4| 75|48 | 27 | 26 | 63 | 20 |23 |50 | 3 * 18 * 11128
-90|155.4|/90 (63|27 |29|63 |20 23|50 3 * 18 * 1| 1.38
-PHC3.175- 75 | 140.4| 75 | 48 | 27 | 26 | 63 | 20 | 23| 50 |3.175 * 18 * 11128
-90|155.4|90 | 63|27 |29 | 63 | 20 |23|50(3.175 * 18 * 1| 1.38
-PHCO4- 75 |140.4| 75|48 | 27 | 26 | 63 | 21 |24|50| 4 * 24 * 1| 1.28
- 90 (1554|9063 |27 |29| 63 |21 (24|50| 4 * 24 * 1138

-PHCO5- 75 |140.4| 75|48 | 27 | 26 | 63 | 22 |25|50| 5 * 26 * 1 1.3

- 90 (1554|9063 |27 29|63 |22 |25/50| 5 * 26 * 1| 1.4
-PHCO6- 75 |140.4| 75|48 | 27 | 26 | 63 | 23 |26|50| 6 37 27 M5*0.8P | 1 | 1.32
-90|155.4|/90 (63|27 |29 |63 |23 26|50 6 37 27 M5*0.8P | 1 | 1.41
-PHCO08- 75 (140.4| 75|48 | 27 | 26 | 63 | 25 (28|50 | 8 37 27 M6*1.0P | 1 | 1.36
-90|155.4|/90|63|27|30|63|25|28/50| 8 37 27 M6*1.0P | 1 | 1.46
-PHC10- 75 |140.4| 75|48 | 27 | 26 | 63 | 27 |30|50| 10 41 31 M8*1.0P | 1 | 1.43
-90|155.4|/90|63|27|35|63 |27 |30{50| 10 41 31 M8*1.0P | 1 | 1.57
-PHC12- 75 |140.4| 75|48 | 27 | 26 | 63 | 29 |32|50| 12 46 36 M10*1.0P| 1 | 1.46
- 90 (1554|9063 |27 |40| 63 | 29 (32|50 | 12 46 36 M10*1.0P | 1 | 1.62
-PHC14- 75 |140.4| 75|48 | 27 | 26 | 63 | 31 |34|50| 14 46 36 M10*1.0P| 1 | 1.48
- 90 (1554|9063 |27 |40| 63 | 31 (34|50| 14 46 36 M10*1.0P| 1 | 1.68

-PHC16- 75 |140.4| 75|48 | 27 | 26 | 63 | 35 |38|50| 16 75 39 M12*1.0P| 1 | 1.51

- 90 |155.4|/90 | 63|27 |45| 63 | 35 |38|50| 16 75 39 M12*1.0P | 1 1.7

-PHC18- 75 |140.4| 75|48 | 27 | 26 | 63 | 37 |40|50| 18 75 39 M12*1.0P| 1 | 1.51

- 90 |155.4|/90 | 63|27 |46 | 63 | 37 |40| 50| 18 75 39 M12*1.0P | 1 1.7
-PHC20- 75 |140.4| 75|48 | 27 | 26 | 63 | 39 |42|50| 20 80 41 M16*1.0P| 1 | 1.52
-90|155.4|/90 | 63|27 |47 | 63 | 39 |42|50| 20 80 41 M16*1.0P| 1 | 1.75
-PHC25-105 | 170.4|105| 78 | 27 | 50 | 63 | 52 |55| 63| 25 80 47 M16*1.0P| 1 | 2.05
-PHC32-105 | 170.4|105| 78 | 27 |48 | 63 | 60 |63 |73 | 32 90 51 M16*1.0P | 2 | 2.34
-PHC40-120 | 185.4|120| 93 | 27 63 40 90 M16*1.0P | 2 3
-PHC42-120 | 185.4|120| 93 | 27 63 42 90 M16*1.0P | 2 3

MR EER:

SBT40 B -[8 - @
L1 Length(L1)
JIFFE 1R Diameter
Ih

BEX 2 Holder type
$EARTZ K Taper size

= 34



HIZTIN

S ®
VY wE RS %5 O-N-W

-SBT50-PHC i#f[£7J#8  SBT50-PHC HYDRAULIC TOOL HOLDER

D
r

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

%
2% Model D2 D3 d s M mertan
SBT50-PHCO05- 90 |191.8| 90 | 52 | 38 |32 ({100| 22 |25[49.5| 5 * 26 * 4.2
=120 | 221.8|120| 82 | 38 | 44 |100| 22 [25|49.5| 5 * 26 * 4.5
-PHCO06- 90 | 191.8| 90 [ 52 | 38 | 32 |100| 23 |26|49.5| 6 37 27 M5*0.8P 4.2
-120 | 221.8|120| 82 | 38 | 44 |100| 23 [26|49.5| 6 37 27 M5%0.8P 4.5
-PHCO08- 90 | 191.8| 90 | 52 | 38 | 32 |100| 25 |28|49.5| 8 37 27 M6*1.0P 4.2
-120 | 221.8|120| 82 | 38 | 44 |100| 25 [28|49.5| 8 37 27 M6*1.0P 4.5
-PHC10- 90 |191.8| 90 | 52 | 38 | 32 |100| 27 |{30|49.5|10 41 31 M8*1.0P 4.2
-120 | 221.8(120| 82 | 38 | 44 |100| 27 (30(49.5|10 41 31 M8*1.0P 4.5
-PHC12- 90 |191.8| 90 | 52 | 38 | 32 |100| 29 |32|49.5|12 46 36 M10*1.0P 4.3
-120 | 221.8|120| 82 | 38 [ 44 |100| 29 [32|49.5|12 46 36 M10*1.0P 4.5
-PHC14- 90 |191.8| 90 | 52 | 38 | 32|100| 31 (34|49.5|14 46 36 M10*1.0P 4.3
-120 | 221.8|120| 82 | 38 [ 44 |[100| 31 [34|49.5|14 46 36 M10*1.0P 4.6
-PHC16- 90 |191.8| 90 | 52 | 38 | 32 |100| 35 |38|49.5|16 75 39 M12*1.0P 4.3
-120 | 221.8|120| 82 | 38 | 48 |100| 35 [38|49.5|16 75 39 M12*1.0P 4.6
-PHC18- 90 |191.8| 90 | 52 | 38 | 32 |100| 37 |{40|49.5|18 75 39 M12*1.0P 4.4
-120 | 221.8|120| 82 | 38 [ 48 | 100| 37 [40|49.5|18 75 39 M12*1.0P 4.6
-PHC20- 90 |191.8| 90 | 52 | 38 | 32 |100| 39 |42|49.5|20 75 41 M16*1.0P 4.4
=120 | 221.8(120| 82 | 38 | 48 |100| 39 (42|49.5|20 75 41 M16*1.0P 4.7
-PHC25-120 | 221.8|120| 82 | 38 | 48 |100| 53 [57| 63 |25 80 47 M16*1.0P 4.9
-PHC32-120 | 221.8|120| 82 | 38 | 48 |100| 58 [62| 70 |32 90 51 M16*1.0P 5.2
-PHC40-120 | 221.8(120| 82 | 38 100 40 90 61 M16*1.0P 6
-PHC42-120 | 221.8|120| 82 | 38 100 42 90 61 M16*1.0P 6
-PHC50-120 | 221.8|120| 82 | 38 100 50 90 61 M16*1.0P 7
FMAERA:
ETE @ L1 [ Length (L1)
JIFFEZ Diameter
INEE S Holder type
AL Taper size



B TIRR

® A3
@ O-N-W RETEF [

-SBT30-SPHC /& EJI R SBT30-SPHC HYDRAULIC TOOL HOLDER

NS A
SIS SHINHI DMNVIAAH

215 Model | e e
SBT30-SPHCO03- 85 |133.4|85 |63 | 22 |42 | 46 | 11 45 | 3 * 18 * 1.1
-SPHCO04- 85 |133.4|85 | 63| 22 | 42| 46 | 11 45 | 4 * 24 * 1.1
-SPHCO05- 85 |133.4|85 |63 | 22 |42 | 46 | 12 45 | 5 * 26 * 1.4
-SPHC06-115 |163.4|115| 93 | 22 | 74 | 46 | 13 45 | 6 37 27 M5%0.8P 1.4
-SPHCO08-115 | 163.4 (115|193 | 22 | 74 | 46 | 15 45 | 8 37 27 M6*1.0P 1.4
-SPHC10-115 | 163.4 (115|193 | 22 | 74 | 46 | 17 45 |10 41 31 M8*1.0P 1.4
-SPHC12-115 | 163.4[115| 93 | 22 | 75| 46 | 19 45 |12 46 36 M10*1.0P 1.4
FAERA:
T @Ll K Length(L1)
JIFE 1R Diameter
IhEE S Holder type
$EFRAZ T Taper size

RS 36 |



HIZTIN

7 i ®
VY wE RS %5 O-N-W

-SBT40-SPHC #EJJ#8  sBT40-SPHC HYDRAULIC TOOL HOLDER

o>
()

SBT. NO

{HIE — — e [9YE
i —
z L3 L2
é j% i L1
27
1 2% Model 01 D2 B3 d R M nrton o
SBT40-SPHCO03- 90 |155.4|( 90 | 63 | 27 | 42| 63 | 11 46 | 3 * 18 * 1.1
-120(185.4|120| 93 | 27 | 72| 63 | 11 46 | 3 * 18 * 1.3
-SPHCO04- 90|155.4(90 | 63 | 27 | 42| 63 | 11 46 | 4 * 24 * 11
-120(185.4|120| 93 | 27 | 72| 63 | 11 46 | 4 * 24 * 1.3
-SPHCO05- 90|155.4| 90 [ 63 | 27 | 42| 63 | 12 46 | 5 * 26 * 1.4
-120(185.4|120{ 93 | 27 | 72 | 63 | 12 46 | 5 * 26 * 1.3
-SPHC06-120|185.4(120( 93 | 27 | 74| 63 | 13 46 | 6 37 27 M5*0.8P 1.4
-150|215.4|150({123| 27 {104| 63 | 13 46 | 6 37 27 M5*0.8P 1.5
-200(265.4 (200|173 | 27 |154| 63 | 13 46 | 6 37 27 M5*0.8P 1.7
-SPHC08-120|185.4|120| 93 | 27 | 74| 63 | 15 46 | 8 37 27 M6*1.0P 1.4
-150(215.4|150(123| 27 |104| 63 | 15 46 | 8 37 27 M6*1.0P 1.5
-200|265.4|200({173| 27 |154| 63 | 15 46 | 8 37 27 M6*1.0P 1.7
-SPHC10-120|185.4(120( 93 | 27 | 74| 63 | 17 46 |10 41 31 M8*1.0P 1.4
=150 (215.4 150|123 | 27 |104| 63 | 17 46 |10 41 31 M8*1.0P 1.5
-200(265.4 (200|173 | 27 |154| 63 | 17 46 |10 41 31 M8*1.0P 1.7
-SPHC12-120|185.4|120| 93 | 27 | 75| 63 | 19 46 (12 46 36 M10*1.0P 1.4
-150(215.4|150(123| 27 |105| 63 | 19 46 |12 46 36 M10*1.0P 1.5
-200|265.4|200({173| 27 [154| 63 | 19 46 (12 46 36 M10*1.0P 1.7
-SPHC14-120|185.4(120| 93 | 27 | 75| 63 | 21 46 |14 46 36 M10*1.0P 1.4
=150|215.4|150|123| 27 [105| 63 | 21 46 |14 46 36 M10*1.0P 1.5
-200|265.4200(173| 27 |154| 63 | 21 46 |14 46 36 M10*1.0P 1.7
-SPHC16-120|185.4(120| 93 | 27 | 75| 63 | 23 50 |16 49 39 M12*1.0P 1.5
-150(215.4|150|123| 27 |105| 63 | 23 50 |16 49 39 M12*1.0P 1.6
-SPHC16-200 | 265.4|200(173| 27 |154| 63 | 23 50 |16 49 39 M12*1.0P 1.8
-SPHC18-120|185.4(120| 93 | 27 | 75| 63 | 25 50 |18 49 39 M12*1.0P 1.5
-150(215.4|150|123| 27 |105| 63 | 25 50 |18 49 39 M12*1.0P 1.6
-200(265.4[200(173| 27 |154| 63 | 25 50 |18 49 39 M12*1.0P 1.8
-SPHC20-120|185.4(120| 93 | 27 | 75| 63 | 27 50 |20 51 41 M16*1.0P 1.6
-150(215.4|150|123| 27 |105| 63 | 27 50 |20 51 41 M16*1.0P 1.7
-200|265.4 (200|173 | 27 |154| 63 | 27 50 |20 51 41 M16*1.0P 1.9
AR RR:
SBT40 - @
L1 4 Length(L1)
JIFFE 1R Diameter
IHAE{X S Holder type
AL Taper size



B TIRR

® 1R L
@ O-N-W HETIHES c@gs

-SBT50-SPHC #®EJJ#\  sBT50-SPHC HYDRAULIC TOOL HOLDER

3
A
as
ES Model d I\iixﬁ:?e{t\i;fz%psh Eshdii;/l:i?e{t\i;f?;pgg ’;‘/ﬁ g
SBT50-SPHC05-150 |251.8|150(112| 38 | 80 |100| 12 50 | 5 * 26 * 4.2 &
-200 |301.8(200|162| 38 |{130(100| 12 50 | 5 * 26 * 4.4
-250 [351.8(250(212| 38 |{180|100| 12 50 | 5 * 26 * 4.6
-300 |401.8(300(262| 38 |230(100| 12 50 | 5 * 26 * 4.8
-SPHC06-150 |251.8|150(112| 38 | 80 |100| 13 50 | 6 37 27 M5*0.8P | 4.2
-200 [301.8(200(162| 38 {130({100| 13 50 | 6 37 27 M5*0.8P | 4.4
-250 [351.8(250(212| 38 |{180|100| 13 50 | 6 37 27 M5*0.8P | 4.6
-300 |401.8|300(262| 38 [{230(100( 13 50 | 6 37 27 M5*0.8P | 4.8
-SPHC08-150 |(251.8|150(112| 38 | 80 |100| 15 50 | 8 37 27 M6*1.0P | 4.2
-200 |301.8(200(162| 38 |{130({100| 15 50 | 8 37 27 M6*1.0P | 4.4
-250 [351.8(250(212| 38 |{180|100| 15 50 | 8 37 27 M6*1.0P | 4.6
-300 |401.8|300|262| 38 |230(100| 15 50 | 8 37 27 M6*1.0P | 4.8
-SPHC10-150 |251.8|150(112| 38 | 80 |100| 17 50 |10 41 31 M8*1.0P | 4.3
-200 [301.8(200(162| 38 |{130(100| 17 50 |10 41 31 M8*1.0P | 4.5
-250 [351.8(250(212| 38 |{180|100| 17 50 |10 41 31 M8*1.0P | 4.7
-300 |401.8|300(262| 38 |230(100| 17 50 |10 41 31 M8*1.0P | 4.9
-SPHC12-150 |251.8|150(112| 38 | 80 |100| 19 50 |12 46 36 M10*1.0P | 4.3
-200 |301.8(200(162| 38 |{130(100| 19 50 |12 46 36 M10*1.0P | 4.5
-250 [351.8(250(212| 38 |{180|100| 19 50 |12 46 36 M10*1.0P | 4.7
-300 |401.8|300(262| 38 |{230(100| 19 50 |12 46 36 M10*1.0P | 4.9
-SPHC14-150 |251.8|150(112| 38 | 80 [100| 21 50 |14 46 36 M10*1.0P | 4.4
-200 |301.8(200({162| 38 {130(100| 21 50 |14 46 36 M10*1.0P | 4.6
-250 [351.8(250(212| 38 {180(100| 21 50 |14 46 36 M10*1.0P | 4.8
-300 |401.8|300(262| 38 {230(100| 21 50 |14 46 36 M10*1.0P 5
-SPHC16-150 |251.8|150(112| 38 | 80 | 100| 23 50 |16 75 39 M12*1.0P | 4.4
-200 [301.8(200(162| 38 |{130|100| 23 50 |16 75 39 M12*1.0P | 4.6
-250 |351.8|250(212| 38 |{180|100| 23 50 |16 75 39 M12*1.0P | 4.8
-300 |401.8|300(262| 38 [230|100| 23 50 |16 75 39 M12*1.0P 5
-SPHC18-150 |251.8|150({112| 38 | 80 |100| 25 50 |18 75 39 M12*1.0P | 4.5
-200 [301.8(200(162| 38 |{130|100| 25 50 |18 75 39 M12*1.0P | 4.7
-250 [351.8(250(212| 38 |{180|100| 25 50 |18 75 39 M12*1.0P | 4.9
-300 |401.8|300|262| 38 |230|100| 25 50 |18 75 39 M12*1.0P | 5.1
-SPHC20-150 |(251.8|150(112| 38 | 80 | 100| 27 50 |20 75 41 M16*1.0P | 4.6
-200 [301.8(200|162| 38 |{130|100| 27 50 |20 75 41 M16*1.0P | 4.8
-250 [351.8(250(212| 38 |180|100| 27 50 |20 75 41 M16*1.0P 5
-300 |401.8(300(262| 38 |230|100| 27 50 |20 75 41 M16*1.0P | 5.2
AR RA:
T @_1 KE Length(L1)
JIFFE 1R Diameter
IHREX S Holder type
HFRAZ I Taper size

RS 35 |



HIZTIN

S ®
VY wE RS %5 O-N-W

-BEEH REFERENCE DETAILS
L6
0°
L3 ~7
L4 %
BT.NO - 3
2//
SR SR Tj 8 g o g
E % I 'UV.U o
2 ~—
] L7
3 /g\ \ <>
£ 5) =
[ A4
. L2 %~ L5
L1 - i

#1& Model 63
BT30 46 |31.75|5614| 38 | 125 | 161 | 8 | 70.4 | 48.4 | 34 | 24 | 20 2 M12*1.75P
BT40 63 | 44.45|75.679| 53 | 17 | 161 | 10 | 92.4 | 654 | 70 | 30 | 25 2 M16*2.0P
BT50 100 | 69.85(119.02| 83 | 25 | 257 | 15 |[139.8|101.8| 90 | 45 | 35 3 M24*3.0P
ST

OHEREE: <AT3

OEAMFE: JIS-SCM4A15 or JIS SNCM220 or JIS SNCM439

OMEE: HRC56° ~58° BHFE >0.8mm

OHEE: <0.8um

OXMmMAEREE: Ra<0.5um

OTIMAKTI BIMERE : BT V BUE= 7 H/K#ME (DIN-69871-AD+B)

© ER, EOC, FMA. FMB, MLC, MLD, MLT, SCK, SFC, SKS. SLN (DIN, FID, JIS) . SOM. TG & &: EiF JIRAMARD O HK#
# (DIN-69871-AD)

O JIRETURITEN T G6.3, TIBIMEERBEHTE G2.5

OZ{RHE: JIS MAS 403 % B6339

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm

© Roundness<0.8um

© Surface roughness:Ra<0.5um

© Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA, FMB, MLC. MLD. MLT, SCK. SFC, SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:JIS MAS 403 and B6339



B TIRR

® A3
@ O-N-W RETEF [

BT30-PHC REJIHK BT30-PHC HYDRAULIC TOOL HOLDER

FIG.1
f 3|88
=
R 3
B
e
5 2
C
FIG.2 o
D g / %
BT. NO
77 sk

o

L1

L4
L2

B Model | e
BT30-PHCO03 - 60 |108.4| 60 | 38 | 22 (28| 46 [20|23(45| 3 * 18 * 1| 0.75
-PHC3.175-60 |108.4| 60 | 38| 22 | 28 | 46 |20(23|45|3.175 * 18 * 1| 0.75
-PHCO04- 60 108.4| 60 | 38 | 22 | 28 | 46 |21(24|45| 4 * 24 * 1| 0.75
-PHCO05- 60 108.4| 60 | 38| 22 | 28| 46 |22(25|45| 5 * 26 * 1| 0.75
-PHC06- 70 118.4( 70 | 48 | 22 | 28 | 46 |23(26|45| 6 37 27 M5%0.8P | 1 0.8
-PHC08- 70 118.4( 70 | 48 | 22 | 28 | 46 |25|28|45| 8 37 27 M6*1.0P | 1 | 0.85
-PHC10- 75 123.4( 75 |53 |22 |36| 46 [27|30(45| 10 41 31 M8*1.0P | 1 | 0.85
-PHC12- 75 123.4| 75 |53 | 22 |36 46 |[29|32|45| 12 46 36 M10*1.0P| 1 | 0.85
-PHC14- 85 133.4( 85|63 | 22 |44 | 46 [31|34(45| 14 46 36 M10*1.0P | 1 | 0.95
-PHC16- 90 138.4( 90 | 68| 22 |48 | 46 [35|38(45| 16 52 39 M12*1.0P| 1 | 1.05
-PHC18- 90 138.4| 90 | 68 | 22 |48 | 46 [37|40(45| 18 52 39 M12*1.0P | 1 1.1
-PHC20- 90 [138.4| 90 | 68| 22 (48| 46 |39|42|45| 20 52 41 M16*1.0P| 1 | 115
-PHC25-105 153.4(105|83 | 22 |44 | 46 |52|55|63| 25 80 47 M16*1.0P| 2 | 1.65
-PHC32-105 153.4(105|83 | 22 |39 | 46 [57|60(68| 32 80 51 M16*1.0P | 2 1.8
AR ERR:
? @ L1 4B Length (L1)
JI#FE 12 Diameter
IhEEfXS Holder type
HEFRAZ I Taper size

= 40



HIETIR

S ®
VY wE RS %5 O-N-W

-BT30-PHC iR EJ] 4% BT30-PHC HYDRAULIC TOOL HOLDER

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

el

25 Model 0 e i ot i s st

BT30-PHC05-101.6 | 150 |101.6|79.6| 22 |54.5|46 | 22 |25|45| 5 * 26 * 2
-PHC06-101.6 | 150 |101.6|79.6| 22 |54.5| 46 |22.2126|45| 6 37 27 M5*0.8P 2
-PHC08-101.6 | 150 |101.6|79.6| 22 |54.5| 46 |22.2126|45| 8 37 27 M6*1.0P 2
-PHC10-101.6 | 150 |101.6|79.6| 22 |55.7 |46 | 26 |30|45|10 41 31 M8*1.0P 2
-PHC12-101.6 | 150 |101.6|79.6| 22 |56.2| 46 | 26 [32|45|12 46 36 M10*1.0P 2
-PHC14-101.6 | 150 |101.6|79.6| 22 | 57 |46 | 30 [36|45|14 46 36 M10*1.0P 2
-PHC16-101.6 | 150 |101.6|79.6| 22 | 57 |46 | 32 |38|45|16 49 39 M12*1.0P 2
-PHC18-101.6 | 150 |101.6|79.6| 22 | 58 |46 | 34 [40|45|18 49 39 M12*1.0P 2
-PHC20-101.6 | 150 |101.6|79.6| 22 [59.5| 46| 36 |42|45|20 51 41 M16*1.0P 2

AR BA:

E L1 4 Length (L1)
JIFFE1Z Diameter
I

BEfLS Holder type
$EFRAZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-BT40-PHC &REJIHK BT40-PHC HYDRAULIC TOOL HOLDER

FIG.1 D
BT.NO

L of 5

D2
D3

JNFS AR

e
=
S
Pl
>
c
=
a
o
T
c
o
~
10
©n
m
2
m
«n

FIG.2 c1

= SR = /0 A
BES Model d hfxﬁjiﬁéﬁ%pfh El\ﬂil:\/llrisﬁe{;éﬁjip(t::

BT40-PHC03-75 |140.4| 75|48 | 27 |26 | 63 | 20 |23| 50 3 * 18 * 1] 1.28
=90 [155.4(90 |63 |27 |29| 63 | 20 |23|50 3 * 18 * 11138
-PHC3.175-75 [140.4| 75|48 | 27 | 26| 63 | 20 |23|50|3.175 * 18 * 11128
=90 [155.4(90 |63 |27 |29| 63 | 20 |23|50(3.175 * 18 * 11138
-PHC04-75 [140.4| 75|48 | 27 | 26| 63 | 21 |24| 50 4 * 24 * 1] 1.28
=90 |155.4|90 |63 |27 |29 |63 | 21 |24|50| 4 * 24 * 1| 1.38
-PHCO05-75 [140.4| 75|48 | 27 | 26| 63 | 22 | 25|50 5 * 26 * 1 1.3
=90 [155.4/90 |63 |27 |29| 63 | 22 |25|50 5 * 26 * 1 1.4
-PHC06-75 [140.4| 75|48 | 27 | 26 | 63 | 23 |26| 50 6 37 27 M5*0.8P | 1 | 1.32
-90 155.4(90 | 63 | 27 | 29| 63 | 23 |26| 50 6 37 27 M5*0.8P | 1 | 1.41
-PHC08-75 140.4| 75 | 48 | 27 | 26 | 63 | 25 | 28| 50 8 37 27 M6*1.0P | 1 | 1.36
-90 155.4(90 | 63 | 27 | 30| 63 | 25 |28]| 50 8 37 27 M6*1.0P | 1 | 1.46
-PHC10-75 140.4| 75|48 | 27 | 26 | 63 | 27 [30| 50| 10 41 31 M8*1.0P | 1 | 1.43
-90 155.4(90 | 63 | 27 | 35| 63 | 27 |30|50| 10 41 31 M8*1.0P | 1 | 1.57
-PHC12-75 140.4( 75|48 | 27 | 26| 63 | 29 |32|50| 12 46 36 M10*1.0P| 1 | 1.46
=90 |155.4|90| 63|27 |40 | 63 | 29 |32|50| 12 46 36 MT10*1.0P| 1 | 1.62
-PHC14-75 140.4( 75|48 | 27 | 26| 63 | 31 |34|50| 14 46 36 M10*1.0P| 1 | 1.48
-90 155.4({90 | 63 | 27 |40 | 63 | 31 |34|50| 14 46 36 M10*1.0P| 1 | 1.68
-PHC16-75 140.4|( 75| 48 | 27 | 26| 63 | 35 |38|50| 16 75 39 M12*1.0P| 1 | 1.51
-90 155.4({90 | 63 | 27 | 45| 63 | 35|38|50| 16 75 39 M12*1.0P | 1 1.7
-PHC18-75 (140.4| 75|48 | 27 | 26| 63 | 37 |40/ 50| 18 75 39 M12*1.0P| 1 | 1.51
-90 155.4(90 | 63 | 27 |46 | 63 | 37 |40| 50| 18 75 39 M12*1.0P | 1 1.7
-PHC20-75 |140.4| 75|48 | 27 | 26| 63 | 39 |42|(50| 20 80 41 M16*1.0P| 1 | 1.52
-90 155.4(90 | 63 | 27 |47 | 63 | 39 |42|50| 20 80 41 M16*1.0P| 1 | 1.75
-PHC25-105 |170.4|105| 78 | 27 | 50| 63 | 52 |55|63| 25 80 47 M16*1.0P| 1 | 2.05
-PHC32-105 [170.4(105| 78 | 27 |48 | 63 | 60 [63|73| 32 90 51 M16*1.0P| 2 | 2.34

-PHC40-120 (185.4|120| 93 | 27 63 40 90 M16*1.0P | 2 3

-PHC42-120 |185.4|120| 93 | 27 63 42 90 M16*1.0P | 2 3

MR

BT40|E - - @
L1 &KE Length (L1)
JIFFE 1R Diameter
Iha

BE{L S Holder type
EIRFZ R Taper size

42



HIZTIN

S ®
VY wE RS %5 O-N-W

BT40-PHC /& [EJJ4#§  BT40-PHC HYDRAULIC TOOL HOLDER

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

2 D3 g BABAREC BOBAREC
Max. insertion depth  Min insertion depth
BT40-PHC05-140 |205.4(140|113| 27 |43 | 63 | 22 |25|45| 5 * 26 * 2.1
-PHC06-140 |205.4|140(113| 27 |43 | 63 | 23 |26|45| 6 37 27 M5*0.8P 2.1
-PHCO08-140 205.4|140(113| 27 |44 | 63 | 25 (28|45 | 8 37 27 M6*1.0P 2.1
-PHC10-140 205.4|140(113| 27 |44 | 63 | 27 |30|45 |10 41 31 M8*1.0P 2.1
-PHC12-140 205.4|140(113| 27 |44 | 63 | 29 |32|45 |12 46 36 M10*1.0P 2.1
=-PHC14-140 205.4|140|113| 27 |44 | 63 | 31 |34|45 |14 46 36 M10*1.0P 2.2
-PHC16-140 205.4|140(113| 27 |47 | 63 | 35 |38|45 |16 52 42 M12*1.0P 2.2
-PHC18-140 205.4|140(113| 27 | 47 | 63 | 37 |40| 45|18 52 42 M12*1.0P 2.2
=-PHC20-140 |[205.4(140|113| 27 |47 | 63 | 39 (42|45 |20 52 42 M16*1.0P 2.2
-PHC25-140 |[205.4(140|113| 27 |47 | 63 | 52 |55|57 |25 57 47 M16*1.0P 2.8
-PHC32-140 |205.4(140(113| 27 |47 | 63 | 60 |63 |62 |32 61 51 M16*1.0P 2.9
A% RE:
g - -[H - Elm
L1 &K Length (L1)
JIFFE 4R Diameter
IHEEFX S Holder type
HFRAZ I Taper size



B TIRR

® 1R L
@ O-N-W HETIHES c@gs

-BT40-JPHC #&JEJJ#A  BT40-JPHC HYDRAULIC TOOL HOLDER

I
& S
BE
7 a
W5
gﬁ
E
52

=S Model D e el nmserip oot
BT40-JPHC05-150 |215.4|150(123| 27 |103| 63 | 21 |25(50 | 5 * 26 * 2.1
-200 | 265.4|200|173| 27 |153| 63 | 21 [25|50| 5 * 26 * 2.2
=250 |315.4|250(223| 27 |203| 63 | 21 [25|50| 5 * 26 * 2.3
-JPHC06-150 |215.4(150|123| 27 |103| 63 | 22 |26|50 | 6 37 27 M5*0.8P 2.1
=200 |265.4|200(173| 27 |153| 63 | 22 [26|50| 6 37 27 M5*0.8P 2.2
-250 |315.4|250(223| 27 |203| 63 | 22 [26|50| 6 37 27 M5*0.8P 2.3
-JPHCO08-150 |215.4|150|123| 27 |104| 63 | 24 |28 |50 | 8 37 27 M6*1.0P 2.1
-200 |(265.4(200|173| 27 |154| 63 | 24 |28 |50 | 8 37 27 M6*1.0P 2.2
=250 |315.4|250(223| 27 |204| 63 | 24 [28|50| 8 37 27 M6*1.0P 2.3
-JPHC10-150 |215.4|150({123| 27 |{104| 63 | 26 |30|50 |10 41 31 M8*1.0P 2.1
-200 |265.4|200|173| 27 |154| 63 | 26 |30| 50|10 41 31 M8*1.0P 2.2
-250 |315.4|250|223| 27 |204| 63 | 26 |30| 50|10 41 31 M8*1.0P 2.3
-JPHC12-150 |[215.4(150(123| 27 |105| 63 | 28 |32|50 |12 46 36 M10*1.0P 2.1
-200 |265.4|200|173| 27 |155| 63 | 28 [32|50 |12 46 36 M10*1.0P 2.2
-250 |315.4|250(223| 27 |204| 63 | 28 [32|50 |12 46 36 M10*1.0P 2.3
-JPHC14-150 |[215.4{150(123| 27 |105| 63 | 30 |34 |50 (14 46 36 M10*1.0P 2.1
-200 |265.4|200|173| 27 |155| 63 | 30 34|50 |14 46 36 M10*1.0P 2.2
-250 |315.4|250(223| 27 |204| 63 | 30 [34|50 |14 46 36 M10*1.0P 2.3
-JPHC16-150 |215.4|150({123| 27 |106| 63 | 34 |38|50 |16 49 39 M12*1.0P 2.2
-200 |265.4|200|173| 27 |156| 63 | 34 |38|50|16 49 39 M12*1.0P 2.3
-250 |315.4|250|223| 27 |206| 63 | 34 |38|50|16 49 39 M12*1.0P 2.4
-JPHC18-150 |215.4|150|123| 27 |107| 63 | 36 [40|50|18 49 39 M12*1.0P 2.2
-200 |265.4|200|173| 27 |157| 63 | 36 |40|50|18 49 39 M12*1.0P 2.3
-250 |315.4|250|223| 27 |207| 63 | 36 [40| 50|18 49 39 M12*1.0P 2.4
-JPHC20-150 |[215.4(150(123| 27 |108| 63 | 38 |42 |50 |20 51 41 M16*1.0P 2.3
-200 |265.4|200|173| 27 |158| 63 | 38 [42|50|20 51 41 M16*1.0P 2.4
-250 |315.4|250|223| 27 |208| 63 | 38 [42|50|20 51 41 M16*1.0P 2.5

FA& 5 ER:
BT40[8 -[E - @
L1 K Length (L1)
JIFFE1Z Diameter
ThEEALS Holder type
HEFRFZ T, Taper size

> 44



HIETIR

S ®
VY w5 %5 O-N-W

-BT40-PHC & JJ4#8  BT40-PHC HYDRAULIC TOOL HOLDER

&

I
=<
33
S
E:t
=

o 7]
I

5
ij
by
A
i
2

=l

=

(%]

%
= RABARE C &MENRE C1
o Max. insertion C‘S;Pth Min insertion ;pth
BT40-PHC20-32.5 | 979 | 325 |5.5| 27 | 63 | 34| 49.5 | 20 51 41 M16*1.0P 0.7
A% RE:

BT40E -BN - @
L1 &K Length (L1)
JJ#FE 1] Diameter
I

BEfX S Holder type
AT Taper size



B TIRR

® A3
@ O-N-W RETEF [

-BT50-PHC BEJIHK BT50-PHC HYDRAULIC TOOL HOLDER

I
& S
BE
7 a
W5
gﬁ
E
52

25 Model 02 D3 d o et Wammeeniaeot
BT50-PHCO5- 90 [191.8|90 | 52 | 38 | 32 (100 22 |25|49.5| 5 * 26 * 4.2
-120 |221.8(120| 82 | 38 | 44 |100| 22 |25|49.5| 5 * 26 * 4.5
-PHC06- 90 |191.8| 90 | 52| 38 | 32 |100| 23 |26(49.5| 6 37 27 M5*0.8P 4.2
=120 |221.8(120| 82 | 38 |44 |100| 23 |26|49.5| 6 37 27 M5*0.8P 4.5
-PHC08- 90 [191.8| 90 | 52| 38 | 32 |100| 25 |28(49.5| 8 37 27 M6*1.0P 4.2
-120 |221.8(120| 82 | 38 | 44 |100| 25 |28|49.5| 8 37 27 M6*1.0P 4.5
-PHC10- 90 |191.8| 90 | 52| 38 | 32 |100| 27 |30{49.5|10 41 31 M8*1.0P 4.2
-120 |221.8(120| 82 | 38 | 44 |100| 27 |30|49.5|10 41 31 M8*1.0P 4.5
-PHC12- 90 |191.8| 90 | 52| 38 | 32 (100| 29 |32[49.5|12 46 36 M10*1.0P 4.3
=120 |221.8(120| 82 | 38 | 44 |100| 29 |32|49.5|12 46 36 M10*1.0P 4.5
-PHC14- 90 [191.8| 90 | 52| 38 | 32 (100| 31 |34[49.5|14 46 36 M10%1.0P 4.3
-120 |221.8(120| 82 | 38 | 44 |100| 31 |34|49.5|14 46 36 M10*1.0P 4.6
-PHC16- 90 |191.8| 90 | 52 | 38 | 32 |100| 35 |38[49.5|16 75 39 M12*1.0P 4.3
-120 |221.8(120| 82 | 38 | 48 |100| 35 |38|49.5|16 75 39 M12%1.0P 4.6
-PHC18- 90 |191.8| 90 | 52 | 38 | 32 [100| 37 |40[49.5|18 75 39 M12*1.0P 4.4
=120 |221.8(120| 82 | 38 | 48 |100| 37 |40|49.5|18 75 39 M12*1.0P 4.6
-PHC20- 90 |191.8| 90 | 52| 38 | 32 |100| 39 |42|49.5|20 75 41 M16*1.0P 4.4
=120 |221.8(120| 82 | 38 | 48 |100| 39 |42|49.5|20 75 41 M16*1.0P 4.7
-PHC25-120 |221.8(120| 82 | 38 | 48 |100| 53 |57 | 63 |25 80 47 M16*1.0P 4.9
-PHC32-120 |221.8|120| 82| 38 | 48 |100| 58 |62| 70 |32 90 51 M16*1.0P 5.2
-PHC40-120 |221.8(120( 82 | 38 100 40 90 61 M16*1.0P 6
-PHC42-120 |221.8(120( 82 | 38 100 42 90 61 M16*1.0P 6
-PHC50-120 |221.8(120( 82 | 38 100 50 90 61 M16*1.0P 7
MRS RA:

? @Ll K Length (L1)
JI#FE 1] Diameter
Lf)

IHEEA S Holder type
SRR Taper size

> 46



HIZTIN

S ®
VY wE RS %5 O-N-W

BT50-PHC #E/EJJ#5  BT50-PHC HYDRAULIC TOOL HOLDER

&

ol
L —

I
=K
S

g E
n
aJ]
]
2
S
3

a

%S Model D2 D3 d o et Mmoo anot
BT50-PHC05-140 |241.8140(102| 38 | 29 |100| 22 |25|49.5| 5 * 26 * 4.8
-200 |301.8|200({162| 38 | 29 |100| 22 [25|49.5| 5 * 26 * 5.2
-PHC06-140 |241.8140({102| 38 | 29 |100| 23 |26|49.5| 6 37 27 M5*0.8P 4.8
-200 |301.8({200(162| 38 | 29 |100| 23 |26|49.5| 6 37 27 M5*0.8P 5.2
PHCO08-140 |241.8|140|102| 38 | 30 |100| 25 |28(49.5| 8 37 27 M6*1.0P 4.8
-200 |301.8(200(162| 38 | 30 |[100| 25 |28|49.5| 8 37 27 M6*1.0P 5.2
-PHC10-140 |241.8|140|102| 38 | 35|100| 27 {30|49.5|10 41 31 M8*1.0P 4.8
-200 |301.8|200(162| 38 | 35 |100| 27 |30|49.5|10 41 31 M8*1.0P 5.2
-PHC12-140 |241.8|140|102| 38 | 40 |100| 29 [32|49.5|12 46 36 M10*1.0P 4.8
-200 |301.8(200(162| 38 |40 [100| 29 |32]49.5|12 46 36 M10*1.0P 5.2
-PHC14-140 |241.8|140|102| 38 | 40 |100| 31 [34|49.5|14 46 36 M10*1.0P 4.8
-200 |301.8(200(162| 38 | 40 [100| 31 |34|49.5(14 46 36 M10*1.0P 5.2
-PHC16-140 |241.8|140|102| 38 | 45|100| 35 [38|49.5|16 75 39 M12*1.0P 4.8
-200 |301.8(200(162| 38 | 45 (100| 35 |38|49.5|16 75 39 M12*1.0P 5.2
-PHC18-140 |241.8|140|102| 38 | 46 |100| 37 |40|49.5|18 75 39 M12*1.0P 4.9
-200 |301.8(200(162| 38 | 46 [100| 37 |40|49.5(18 75 39 M12*1.0P 5.3
-PHC20-140 |241.8|140|102| 38 | 42 |100| 39 [42|49.5|20 75 41 M16*1.0P 4.9
-200 |301.8(200(162| 38 | 42 [100| 39 |42|49.5|20 75 41 M16*1.0P 5.3
-PHC25-140 |241.8|140|102| 38 | 48 |100| 53 |57 | 63 |25 80 47 M16*1.0P 5.6
-200 |301.8(200(162| 38 | 48 [100| 53 |57 | 63 |25 80 47 M16*1.0P 6
-PHC32-140 |241.8|140|102| 38 | 50 |100| 58 [62| 70 |32 90 51 M16*1.0P 5.8
-200 |301.8(200(162| 38 | 50 [100| 58 |62 | 70 |32 90 51 M16*1.0P 6.2
AR IERA:

E L1 4 Length (L1)
JI¥FE 1 Diameter
I

BEfX S Holder type
HAAAZ I Taper size



B TIRR

® 1R L
@ O-N-W HETIHES c@gs

-BT50-)JPHC iR EJ] % BT50-JPHC HYDRAULIC TOOL HOLDER

I
& S
BE
7 a
W5
gﬁ
E
52

ES Model D2 D3 d BABAREC ROBAREC

Max. insertion depth ~ Min insertion depth

BT50-JPHCO05-160 |261.8(160(122| 38 |104|100| 22 |25(49.5| 5 * 26 * 4.8
-200 |301.8200|162| 38 |144|100| 22 |25|49.5| 5 * 26 * 5.2
-250 |351.8250(212| 38 |194|100| 22 |25|49.5| 5 * 26 * 5.6
-JPHC06-160 |261.8 160(122| 38 [104|100| 23 |26 |49.5| 6 37 27 M5*0.8P 4.8
-200 |301.8|200|162| 38 |144|100| 23 |26|49.5| 6 37 27 M5*0.8P 5.2
-250 |351.8|250(212| 38 [194|100| 23 |26|49.5| 6 37 27 M5*0.8P 5.6
-JPHCO08-160 |261.8(160(122| 38 |{104|100| 25 |28(49.5| 8 37 27 M6*1.0P 4.8
-200 |301.8(200(162| 38 |{144|100| 25 |28(49.5| 8 37 27 M6*1.0P 5.2
-250 |351.8|250(212| 38 [194|100| 25 [28|49.5| 8 37 27 M6*1.0P 5.6
-JPHC10-160 |261.8|160|122| 38 [105|100| 27 [30|49.5|10 41 31 M8*1.0P 4.8
-200 |301.8|200(|162| 38 [145|100| 27 [30|49.5|10 41 31 M8*1.0P 5.2
-250 |351.8|250(212| 38 [195|100| 27 |30|49.5|10 41 31 M8*1.0P 5.6
-JPHC12-160 |261.8|160|122| 38 [105|100| 29 |32|49.5|12 46 36 M10*1.0P 4.8
-200 |301.8|200(|162| 38 {145|100| 29 [32]49.5|12 46 36 M10*1.0P 5.2
-250 |351.8|250(212| 38 [195/100| 29 [32]49.5|12 46 36 M10*1.0P 5.6
-JPHC14-160 |261.8|160(122| 38 |107|100| 31 |34|49.5|14 46 36 M10*1.0P 4.8
-200 |301.8|200(|162| 38 [147|100| 31 [34|49.5|14 46 36 M10*1.0P 5.2
-250 |351.8|250(212| 38 [197|100| 31 [34|49.5|14 46 36 M10*1.0P 5.6
-JPHC16-160 |261.8(160|122| 38 |107|100| 35 |38(49.5|16 75 39 M12*1.0P 5
-200 |301.8|200|162| 38 |147|100| 35 |38|49.5|16 75 39 M12*1.0P 5.4
-250 |351.8(250(212| 38 |197|100| 35 [38(49.5|16 75 39 M12*1.0P 5.8
-JPHC18-160 |261.8|160(122| 38 |{108|100| 37 |{40(49.5|18 75 39 M12*1.0P 5
-200 |301.8|200(|162| 38 {148|100| 37 [40|49.5|18 75 39 M12*1.0P 5.4
-250 |351.8|250(212| 38 {198|100| 37 [40|49.5|18 75 39 M12*1.0P 5.8
-JPHC20-160 |261.8|160(122| 38 |{108|100| 39 |42|49.5|20 75 41 M16*1.0P 5
-200 |301.8|200(|162| 38 [148|100| 39 [42|49.5|20 75 41 M16*1.0P 5.4
-250 |351.8|250(212| 38 [198|100| 39 |42|49.5|20 75 41 M16*1.0P 5.8
-JPHC25-160 |261.8 160|122 38 (110|100| 53 |57 | 63 |25 80 47 M16*1.0P 5.2
-200 |301.8|200|162| 38 [150{100| 53 [57| 63 |25 80 47 M16*1.0P 5.6

-250 |351.8|250(212| 38 [200|100| 53 [57| 63 |25 80 47 M16*1.0P

-JPHC32-160 |261.8|160(122| 38 |110/100| 58 |63 | 70 |32 90 51 M16*1.0P
-200 |301.8|200(|162| 38 {150{100| 58 [63| 70 |32 90 51 M16*1.0P 6.2
-250 |351.8|250(212| 38 [200|100| 58 [63| 70 |32 90 51 M16*1.0P 6.4

AR LRR:
T @fl K Length (L1)
TI#FE 1R Diameter
IHEEAL S Holder type
HEFRAZ I Taper size

> 48



HIETIR

S ®
VY w5 %5 O-N-W

BT50-PHC & & JJ48  BT50-PHC HYDRAULIC TOOL HOLDER

&

I
=K
S

g E
=

o 7]
]
2
S
3

o

=

RABARE C &RMEARE C1

Max. insertion depth ~ Min insertion depth

BT50-PHC32-51 152.8| 51 1338|100 | 46 | 70.5 | 32 71 61 M16*1.0P 3.8

M EER:

T $L1 K Length (L1)
JJ#FE 1% Diameter
I

BEfLS Holder type
HEFRAZ I Taper size



<2 O-N-W ® BET TR

-BT30-SPHC &&= JJ#8  BT30-SPHC HYDRAULIC TOOL HOLDER

B TIRR

MR E

CNCTOOLS

NS A
SIS SHINHI DMNVIAAH

215 Model | e e
BT30-SPHCO03- 85 |133.4|85 |63 | 22|42 | 46 | 11 45 | 3 * 18 * 1.1
-SPHCO04- 85 [133.4|85| 63| 22 |42 | 46 |11 45 | 4 * 24 * 1.1
-SPHCO05- 85 [133.4|85|63| 22 (42|46 | 12 45 | 5 * 26 * 1.4
-SPHC06-115 |163.4({115| 93| 22 | 74| 46 | 13 45 | 6 37 27 M5%0.8P 1.4
-SPHCO08-115 |163.4|115| 93| 22 | 74| 46 | 15 45 | 8 37 27 M6*1.0P 1.4
-SPHC10-115 |163.4|115| 93 | 22 |74 | 46 | 17 45 |10 41 31 M8*1.0P 1.4
-SPHC12-115 |163.4|115| 93| 22 | 75| 46 | 19 45 |12 46 36 M10*1.0P 1.4
FAERA:
T $Ll K Length (L1)
JIFFE 1R Diameter
IHAE{X S Holder type
SEFRFZ T Taper size

RS 50



HIZTIN

7 i ®
VY wE RS %5 O-N-W

-BT40-SPHC iR[E 7] R BT40-SPHC HYDRAULIC TOOL HOLDER

o>
()

BT. NO

I - — S ik S
i —
z L3 L2
é j‘% i L1
o7
1 2 Model [ BT el [ T
BT40-SPHCO03- 90 |155.4(90 | 63 | 27 | 42| 63 | 11 46 | 3 * 18 * 1.1
=120 |185.4(120|93 | 27 | 72| 63 | 11 46 | 3 * 18 * 1.3
-SPHCO04- 90 [155.4|90 |63 | 27 |42 |63 | 11 46 | 4 * 24 * 11
=120 |185.4|120|93 | 27 | 72| 63 | 11 46 | 4 * 24 * 1.3
-SPHCO05- 90 [155.4|90 |63 | 27 42| 63 | 12 46 | 5 * 26 * 1.4
-120 |185.4(120|93 | 27 | 72| 63 | 12 46 | 5 * 26 * 1.3
-SPHC06-120 [185.4|120|93 | 27 |74 | 63 | 13 46 | 6 37 27 M5*0.8P 1.4
=150 |215.4|150(123| 27 [104| 63 | 13 46 | 6 37 27 M5*0.8P 1.5
-200 |265.4|200(173| 27 [154| 63 | 13 46 | 6 37 27 M5*0.8P 1.7
-SPHC08-120 |185.4|120| 93 | 27 | 74 | 63 | 15 46 | 8 37 27 M6*1.0P 1.4
=150 |215.4|150(123| 27 |{104| 63 | 15 46 | 8 37 27 M6*1.0P 1.5
-200 |265.4(200(173| 27 |154| 63 | 15 46 | 8 37 27 M6*1.0P 1.7
-SPHC10-120 [185.4|120|93 | 27 |74 | 63 | 17 46 |10 41 31 M8*1.0P 1.4
=150 |215.4|150(123| 27 [104| 63 | 17 46 |10 41 31 M8*1.0P 1.5
-200 |265.4|200(173| 27 [154| 63 | 17 46 |10 41 31 M8*1.0P 1.7
-SPHC12-120 |185.4|120| 93| 27 | 75| 63 | 19 46 (12 46 36 M10*1.0P 1.4
-150 |215.4|150(123| 27 |105| 63 | 19 46 |12 46 36 M10*1.0P 1.5
-200 |265.4(200(173| 27 (154| 63 | 19 46 (12 46 36 M10*1.0P 1.7
-SPHC14-120 [185.4|120| 93 | 27 | 75| 63 | 21 46 |14 46 36 M10*1.0P 1.4
=150 |215.4|150(123| 27 |105| 63 | 21 46 |14 46 36 M10*1.0P 1.5
-200 |265.4|200(173| 27 [154| 63 | 21 46 |14 46 36 M10*1.0P 1.7
-SPHC16-120 |[185.4|120| 93 | 27 | 75| 63 | 23 50 |16 49 39 M12*1.0P 1.5
-150 |215.4|150(123| 27 |105| 63 | 23 50 |16 49 39 M12*1.0P 1.6
-SPHC16-200 |265.4|200|173| 27 |154| 63 | 23 50 |16 49 39 M12*1.0P 1.8
-SPHC18-120 [185.4|120| 93 | 27 | 75| 63 | 25 50 |18 49 39 M12*1.0P 1.5
=150 |215.4|150(123| 27 |105| 63 | 25 50 |18 49 39 M12*1.0P 1.6
=200 |265.4|200(173| 27 |154| 63 | 25 50 |18 49 39 M12*1.0P 1.8
-SPHC20-120 |185.4|120| 93 | 27 |75 | 63 | 27 50 |20 51 41 M16*1.0P 1.6
=150 |215.4|150(123| 27 |105| 63 | 27 50 |20 51 41 M16*1.0P 1.7
-200 |265.4|200(173| 27 |154| 63 | 27 50 |20 51 41 M16*1.0P 1.9
g EAR:
BT40[8 - [iE] - %ﬂ
T L1 £ Length (L1)
TI#FE 1] Diameter
IHEEFL S Holder type
SERAZ T Taper size



5 O0-N-w®

-BT50-SPHC & EJI R

BT50-SPHC HYDRAULIC TOOL HOLDER

RETIH RS

B TIRR

MR E

CNCTOOLS

it

£ £

ne

FE Model 1 12 13 L4 D RABARE C RMBARE C1 TZE §

Max. insertion depth  Min insertion depth yu %

BT50-SPHC05-150 251.8|150(112| 38 | 80 |100( 12 50 | 5 * 26 * 4.2 .
-200 301.8 (200(162| 38 |130({100| 12 50 | 5 * 26 * 4.4
-250 351.8 (250(212| 38 |180({100| 12 50 | 5 * 26 * 4.6
-300 401.8 |300|262| 38 |230|100| 12 50 | 5 * 26 * 4.8
-SPHC06-150 251.8(150({112| 38 | 80 |100| 13 50 | 6 37 27 M5*0.8P 4.2
-200 301.8 (200({162| 38 [{130({100| 13 50 | 6 37 27 M5*0.8P 4.4
-250 351.8 (250(212| 38 [{180({100| 13 50 | 6 37 27 M5*0.8P 4.6
-300 |401.8(300(262| 38 {230|100| 13 50 | 6 37 27 M5*0.8P | 4.8
-SPHC08-150 |251.8(150(112| 38 | 80 [100| 15 50 | 8 37 27 M6*1.0P 4.2
-200 301.8 (200|162| 38 |130({100| 15 50 | 8 37 27 M6*1.0P 4.4
-250 [351.8(250(212| 38 {180|100| 15 50 | 8 37 27 M6*1.0P | 4.6
-300 |401.8|300|262| 38 |230|100]| 15 50 | 8 37 27 M6*1.0P 4.8
-SPHC10-150 |251.8(150(112| 38 | 80 [100| 17 50 |10 41 31 M8*1.0P 4.3
-200 |[301.8(200(162| 38 {130(100| 17 50 |10 41 31 M8*1.0P | 4.5
-250 351.8 (250(212| 38 |180({100| 17 50 |10 41 31 M8*1.0P 4.7
-300 |401.8|300|262| 38 |230|100| 17 50 |10 41 31 M8*1.0P 4.9
-SPHC12-150 |251.8(150|112| 38 | 80 |[100| 19 50 [12 46 36 M10*1.0P | 4.3
-200 301.8 (200(162| 38 |130({100| 19 50 |12 46 36 M10*1.0P | 4.5
-250 351.8 (250(212| 38 |180({100| 19 50 |12 46 36 M10*1.0P | 4.7
-300 |401.8|300|262| 38 |230|100| 19 50 |12 46 36 M10*1.0P | 4.9
-SPHC14-150 |251.8 (150|112 38 | 80 |100| 21 50 |14 46 36 M10*1.0P | 4.4
-200 301.8 (200|162 38 |130|100| 21 50 |14 46 36 M10*1.0P | 4.6
-250 351.8 (250(212| 38 |180|100| 21 50 |14 46 36 M10*1.0P | 4.8
-300 [401.8(300(262| 38 [230(100| 21 50 |14 46 36 M10*1.0P 5
-SPHC16-150 |251.8|150({112| 38 | 80 [100| 23 50 |16 75 39 M12*1.0P | 4.4
-200 301.8 (200|162| 38 [130({100| 23 50 |16 75 39 M12*1.0P | 4.6
-250 |[351.8(250(212| 38 (180|100 23 50 |16 75 39 M12*1.0P | 4.8
-300 |401.8|300|262| 38 |230|100]| 23 50 |16 75 39 M12*1.0P 5
-SPHC18-150 |251.8(150|112| 38 | 80 |100| 25 50 [18 75 39 M12*1.0P | 4.5
-200 |[301.8(200(162| 38 {130(100| 25 50 |18 75 39 M12*1.0P | 4.7
-250 351.8(250(212| 38 |180(100| 25 50 |18 75 39 M12*1.0P | 4.9
-300 |401.8|300|262| 38 |230|100]| 25 50 |18 75 39 M12*1.0P | 5.1
-SPHC20-150 |251.8(150({112| 38 | 80 [100| 27 50 |20 75 41 M16*1.0P | 4.6
-200 301.8 (200(162| 38 |130(100| 27 50 |20 75 41 M16*1.0P | 4.8
-250 351.8 (250(212| 38 |180(100| 27 50 |20 75 41 M16*1.0P 5
-300 |401.8|300|262| 38 |230|100]| 27 50 |20 75 41 M16*1.0P | 5.2

M EER:

JIFFE & Diameter

% L1 K Length (L1)
INEEHLS Holder type

AR Taper size

= 52



HIETIR

S ®
VY wE RS %5 O-N-W

‘BT30-ZPHC A ZF#&EEJIHW  BT30-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

X IFEEIRET

zero fit screw c

D

{ep]
Q
=

BT. NO

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

%

= BABARE C RMBARE C1

BS Model d Max. insertién dxepth Min inserticlan dxepth
BT30-ZPHCO06- 90 [138.4| 90 | 68 | 22 |48 | 46 | 23 |26| 45 | 6 41 31 M5*0.8P 0.8
-ZPHCO08- 90 [138.4| 90 | 68 | 22 |48 | 46 | 25 |28| 45 | 8 41 31 M6*1.0P 0.8
-ZPHC10- 90 [138.4| 90|68 | 22 |51 | 46 | 27 |30| 45 |10 48 38 M8*1.0P 0.8
-ZPHC12- 95 [143.4| 95|73 | 22 |56 | 46 | 29 [32| 45 |12 53 43 M10*1.0P 0.9
-ZPHC16-100 |[148.4|100| 78 | 22 |58 | 46 | 35 [38| 45 |16 58 48 M12*1.0P 1.1
-ZPHC20-105 |153.4|105|83 | 22 | 63 | 46 | 39 |42| 45 |20 58 48 M16*1.0P 1.2

AR LRR:

T $L1 KE Length (L1)

JIFFE 1 Diameter
InEEfXS Holder type

SEFRFZ T, Taper size



B TIRR

® A3
@ O-N-W RETEF [

-BT40-ZPHC A= #EEJIHW  BT40-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

X FIFEEIRET

zero fit screw

I
g
EE
7 a
W5
gﬁ
E
52

%S Model e
BT40-ZPHCO05- 90 [155.4|90 |63 | 27 |44 | 63 | 22 |25| 50 | 5 * 26 * 1.4
-ZPHC06- 90 |155.4| 90 | 63 | 27 |44 | 63 | 23 |26| 50 | 6 41 31 M5*0.8P 1.4
-ZPHCO08- 90 (155.4|90 |63 | 27 |44 | 63 | 25 |28| 50 | 8 41 31 M6*1.0P 1.4
-ZPHC10- 95 (160.4| 95 |68 | 27 |49 | 63 | 27 |30| 50 |10 48 38 M8*1.0P 1.5
-ZPHC12-100 |165.4|100| 73 | 27 | 54 | 63 | 29 |32| 50 |12 53 43 M10*1.0P 1.6
-ZPHC16-105 |(170.4|105| 78 | 27 |63 | 63 | 35 |38| 50 |16 58 48 M12*1.0P 1.7
-ZPHC20-105 [170.4|105| 78 | 27 | 63 | 63 | 39 |42| 50 |20 58 48 M16*1.0P 1.8
-ZPHC25-110 |[175.4|110|83 | 27 | * | 63 | 53 |57 | 57 |25 67 57 M16*1.0P 2.3
-ZPHC32-115 |[180.4|115/88 | 27 | * | 63 | 58 |62| 62 |32 71 61 M16*1.0P 2.6
A& LRE:
BT40 -8 - @
L1 & Length (L1)
JI#FE 1R Diameter
IfBEfX S Holder type
HEFRAZ T Taper size

= 54



HIZTIN

S ®
VY wE RS %5 O-N-W

-BT50-ZPHC A= #&EEJI#R  BT50-ZPHC ZERO FIT HYDRAULIC TOOL HOLDER

X TFEEARET

zero fit screw

&

I
=K
S

g E
n
aJ]
]
2
S
3

a

%
25 Model d e
BT50-ZPHCO05-105 |206.8|105| 67 | 38 | 47 |100| 21 [25| 50 | 5 * 26 * 4.2
-ZPHC06-105 |206.8|105| 67 | 38 | 47 |100| 23 |26| 50 | 6 41 31 M5%0.8P 4.2
-ZPHC08-105 |206.8|105| 67 | 38 | 47 |100| 25 |28| 50 | 8 41 31 M6*1.0P 4.2
-ZPHC10-110 [211.8|110| 72 | 38 | 52 |100| 27 |30| 50 |10 48 38 M8*1.0P 4.3
-ZPHC12-115 (216.8|115| 77 | 38 | 57 |100| 29 |32| 50 |12 53 43 M10*1.0P 4.3
-ZPHC16-120 |221.8(120| 82 | 38 | 62 |100| 35 |38| 50 |16 58 48 M12*1.0P 4.5
-ZPHC20-120 |221.8|120| 82 | 38 | 62 |100| 39 (42| 50 |20 58 48 M16*1.0P 4.6
-ZPHC25-125 |226.8|125|87 | 38 | * |100| 53 |57 | 57 |25 67 57 M16*1.0P 5.2
-ZPHC32-125 [226.8|125|/87 | 38 | * [100| 58 |62| 62 |32 71 61 M16*1.0P 5.4
AR RR:
T qﬁ.l £ Length (L1)
JIFFE 1R Diameter
IhEE{X S Holder type
SEFRFZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-BERH REFERENCE DETAILS

L2

(‘7
L3
I

S

iy

di
60°
\/d_’j\/

1\
d4
d3

D
d2
dé

NS A
SIS SHINHI DMNVIAAH

SK30 50 | 31.75 | 59.30 |44.30| 45 13 | 16.1 4 478 | 335 | 24 19 16.4 15 21 5

SK40 63.55|44.45 | 72.30 |56.25| 50 17 | 16.1 4 68.4 | 42.5 | 32 25 22.8 | 18.5 27 5

SK50 97.50 | 69.85 |107.25|91.25| 80 25 | 257 | 6 |101.75| 61.5 | 47 | 377 | 35.5 30 42 7

ST

OHERE: <AT3

OEARME: JIS-SCM415

OFE: HRC56°BHKRE >0.8mm

OEREE: <0.8um

OFmMAEME: Ra<0.5um

OJIHAAMLTI BIMERE : BT V BUAZiHHK#IME (DIN-69871-AD+B)

© ER., FMA, FMB., MLT, SCK, SLN. SOM Bff&: B TRAED O HKME (DIN-69871-AD)
O NIRETIRARERNTE G6.3, TRIMEERBHNTE G2.5

OZSFHISE : DIN 69871

RES 50 |



HIZTIN

MR E

CNCTOOLS

®
BETHFA %5 O-N-W

-SK30-PHC & EJIR

SK30-PHC HYDRAULIC TOOL HOLDER

FIG.1
1G DG cc1
SK/DAT. NO |
- N\ —r— - 7588
s @) ‘
¥ -
s & 13 L4
2 7] L2
E’m L1
i L
C
FIG.2 b & c1
SK/DAT. NO V /\
17 Z 7. L7
- L Jsgg
L3 L4
L2
L1
L

RABARE C RMBENRE C1

BS Model b3 d Max. insertion depth Min insertion depth
SK30-PHCO5- 55 |102.8| 55 (359(19.1|20| 50 | 21 [25|45| 5 * 26 * 1 0.6
-PHC06- 55 |102.8| 55 |359|19.1|120| 50 | 22 |26 (45| 6 37 27 M5*0.8P | 1 0.6
-PHCO08- 55 |102.8| 55 |35.9(19.1|120| 50 | 24 |28 45| 8 37 27 M6*1.0P | 1 0.6
-PHC10- 55 [102.8| 55 |35.9(19.1|21| 50 | 26 |30(45|10 41 31 M8*1.0P | 1 0.6
-PHC12- 55 [102.8| 55 |35.9|19.1| 22| 50 | 28 |32|45|12 46 36 M10*1.0P | 1 0.6
-PHC14- 90 |137.8 |90 |70.9|19.1|42| 50 | 30 |34(45|14 46 36 M10*1.0P | 1 0.7
-PHC16- 90 |137.8 |90 |70.9(19.1|50| 50 | 34 |38 (45|16 49 39 M10*1.0P | 1 0.7
-PHC18- 90 |137.8 |90 |70.9|19.1|50| 50 | 36 |40(45|18 49 39 M10*1.0P | 1 0.7
-PHC20- 90 |137.8| 90 |70.9|19.1| 50| 50 | 38 |42|45|20 51 41 M10*1.0P | 1 0.7
-PHC25-115 | 157.8 |110|95.9|19.1 50 | 53 |57|63|25 57 47 M10*1.0P | 2 1
-PHC32-115 |157.8|110|95.9|19.1 50 | 60 [ 64|63 |32 61 51 M10*1.0P | 2 1
AR IR
? L1 ¥ Length(L1)
JIFFE1F Diameter
IHEE1X S Holder type
SEFRFZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-SK40-PHC {EEJJ#8  sk40-PHC HYDRAULIC TOOL HOLDER

FIG.1
SK/DAT. NO
1
| ot & g 8
L4 ;& %
EE
Nz
FIG.2 c e
G. Cl
sk/DAT.NO & P
* on 77
%8 v 277
B[ E— - Jssg
L3 L4
L2
L1
L
= RABARE C RPBANRE
ES Model o) e d Max. insertion depth Min insertion depth
SK40-PHC03-80.5 |148.9| 80.5 |61.4|19.1| 29.5|63.55| 20 (23|49.5| 3 * 18 * 1113
-PHC3.175-80.5 |148.9]/80.5|61.4|19.1| 29.5|63.55|20|23[49.5|3.175 * 18 * 1|13
-PHC04-80.5 |148.9|80.5(61.4{19.1| 29.5 |63.55|21|24|49.5| 4 * 24 * 1|13
=-PHC05-80.5 |148.9/80.5|61.4|19.1| 29.5 |63.55|21 [25|49.5 5 * 26 * 1 1.3
-PHC06-80.5 |148.9|80.5|61.4|19.1| 29.5|63.55|22(26|49.5| 6 37 27 M5*0.8P | 1 | 1.3
-PHC08-80.5 |148.9|80.5(61.4{19.1| 30 |63.55|24|28|49.5| 8 37 27 M6*1.0P | 1 | 1.3
-PHC10-80.5 |148.9/80.5(61.4{19.1| 31 |63.55/26|30(49.5| 10 41 31 M8*1.0P | 1 | 1.3
-PHC12-80.5 |148.9|80.5(61.4{19.1| 31.5 |63.55|28|32(49.5| 12 46 36 M10*1.0P| 1 | 1.3
-PHC14-80.5 |148.9|80.5(61.4{19.1| 33 |63.55|30|34|49.5| 14 46 36 M10*1.0P| 1 | 1.3
-PHC16-80.5 |148.9|80.5(61.4|19.1| 33 |63.55|34|38(49.5| 16 49 39 M12*1.0P| 1 | 1.3
-PHC18-80.5 |148.9/80.5(61.4{19.1| 34 |63.55|36|40(49.5| 18 49 39 M12*1.0P| 1 | 1.3
-PHC20-80.5 |148.9|80.5(61.4{19.1| 34 |63.55|38|42|49.5| 20 51 41 M16*1.0P| 1 | 1.3
-PHC25-80.5 |148.9|80.5(61.4{19.1| 22 |63.55|53|55| 63 | 25 57 47 M16*1.0P| 2 | 1.6
-PHC32-80.5 |148.9|80.5(61.4|19.1| 25.5 |63.55|60|63| 70 | 32 61 51 M16*1.0P| 2 | 1.7
FAS 1t BR:

? i L1 4 Length (L1)
JIFFE 1R Diameter
Ih

BE1L S Holder type
HEFRAZ I Taper size

RS 55 |



HIZTIN

S ®
VY wE RS %5 O-N-W

-SK40-PHC {EEJJ#8  sk40-PHC HYDRAULIC TOOL HOLDER

FIG.1
SK/DAT. NO 1
| | < 5 8]
SR L4
33
7l ]
29l FIG.2 c
C1
SK/DAT. NO b6 Y ﬁ
= =7
w I | L + 'JE g 8
v ©
L3
L2 L4
L1
L
= RABARE C RPEARE C
BS Model D2 D3 d Max.insertiondsépth Mininsertion;pth
SK40-PHC05-110 [178.4|110(90.9/19.1|29.5(63.55|21|25|49.5| 5 * 26 * 1117
-PHC06-110 |178.4{110|90.9/19.1|29.5|63.55|22|26|49.5| 6 37 27 M5*0.8P | 1 | 1.7
-PHC08-110 |178.4{110|90.9/19.1| 30 |63.55|24|28[49.5| 8 37 27 M6*1.0P | 1 | 1.8
=-PHC10-110 178.4/110(90.9/19.1| 31 |63.55|26(30({49.5|10 41 31 M8*1.0P | 1 | 1.8
-PHC12-110 |178.4/110(90.9|19.1|31.5|63.55|28|32|49.5|12 46 36 M10*1.0P| 1 | 1.8
-PHC14-110 |178.4{110|90.9|19.1| 33 |63.55|30|34|49.5|14 46 36 M10*1.0P| 1 | 1.8
-PHC16-110 |178.4{110|90.9|19.1| 33 |63.55|34|38|49.5|16 49 39 M12*1.0P| 1 | 1.8
-PHC18-110 178.4/110|90.9/19.1| 34 |63.55|36|40(49.5|18 49 39 M12*1.0P| 1 | 1.9
-PHC20-110 |178.4{110|90.9|19.1| 34 |63.55|38|42|49.5|20 51 41 M16*1.0P| 1 | 1.9
-PHC25-110 |178.4{110(90.9|19.1| 22 |63.55|53|55| 63 |25 57 47 M16*1.0P| 2 | 2.3
-PHC32-110 |178.4{110|90.9|19.1|25.5|63.55|60|63| 70 |32 61 51 M16*1.0P| 2 | 2.4
FA&IER:

} L1 E Length(L1)
JIFFE 1R Diameter

IREX S Holder type
$FRAZ T Taper size



<2 O-N-W ® BET TR

-SK40-PHC {EEJJ#R  sk40-PHC HYDRAULIC TOOL HOLDER

SK/DAT. NO W

RABARE C &xDEARE Q1

B TIRR

MR E

CNCTOOLS

ES Model Max. insertion depth Min insertion depth
SK40-PHC20-24.6 93 | 24.6 | 5.5 [19.1|63.55| 34| 49.5 | 20 51 41 M16*1.0P 0.6
FA& I ER:

? ] L1 ¥ E Length (L1)
JIMFE 1R Diameter
L)

IHEEX S Holder type
$FRAZ I Taper size

NS A
SIS SHINHI DMNVIAAH




HIZTIN

S ®
VY wE RS %5 O-N-W

-SK50-PHC & JJ#8  sk50-PHC HYDRAULIC TOOL HOLDER

SK/DAT. NO

&

=

I
=K
S

g E
n
aJ]
]
2
S
3

a

D2 D3 o BABAREC BOEARE CI

Max. insertion depth ~ Min insertion depth

SK50-PHC05-80.5 |182.25| 80.5 | 61.4 {19.1| 29.5|97.5| 21 | 25|49.5| 5 * 26 * 3.2
-PHC06-80.5 [182.25| 80.5 | 61.4(19.1| 29.5 |97.5| 22 |26 |49.5| 6 37 27 M5*0.8P | 3.2
-PHC08-80.5 [182.25| 80.5 | 61.4|19.1| 30 |97.5| 24 |28|49.5| 8 37 27 M6*1.0P | 3.3
-PHC10-80.5 |182.25| 80.5 |61.4|19.1| 35 [97.5| 26 |30|49.5|10 41 31 M8*1.0P | 3.3
-PHC12-80.5 [182.25| 80.5 | 61.4|19.1| 40 |97.5| 28 [32|49.5|12 46 36 M10*1.0P| 3.3
-PHC14-80.5 [182.25| 80.5 | 61.4|19.1| 40 |97.5| 30 [34|49.5|14 46 36 M10*1.0P| 3.3
-PHC16-80.5 |[182.25| 80.5 | 61.4|19.1| 45 |97.5| 34 |38|49.5|16 49 39 M12*1.0P| 3.3
-PHC18-80.5 [182.25| 80.5 | 61.4|19.1| 46 |97.5| 36 [40|49.5|18 49 39 M12*1.0P| 3.3
-PHC20-80.5 |182.25| 80.5 |61.4|19.1| 42 [97.5| 38 |42|49.5|20 51 41 M16*1.0P| 3.3
-PHC25- 100 |201.75| 100 |80.9|19.1| 48 |97.5| 53 |55| 63 |25 57 47 M16*1.0P| 3.8
-PHC32- 100 |201.75| 100 |80.9({19.1| 61 [97.5| 60 [63| 70 |32 61 51 M16*1.0P| 4.2

A ER:
@il £ Length (L1)
JIFFE 1R Diameter
IhAE{X S Holder type
HEFRAZ I Taper size

__ 61 g



B TIRR

® A3
@ O-N-W RETEF [

-SK50-PHC & JJ#8  sk50-PHC HYDRAULIC TOOL HOLDER

o

1
D2
D3

SNFS AR

e
<
S
Pl
>
c
=
a
o
T
c
o
~
10
©n
m
2
m
«n

D2 D3 o BABAREC BOBARECI

Max. insertion depth Min insertion depth

SK50-PHC05-110 |211.75| 110 [90.9|19.1| 29 [97.5| 21 |25|49.5| 5 * 26 * 2.5
-PHC06-110 [211.75| 110 |90.9|19.1| 29 |97.5| 22 [26|49.5| 6 37 27 M5*0.8P | 2.5
-PHCO08-110 |211.75| 110 [90.9(19.1| 30 |97.5| 24 |28|49.5| 8 37 27 M6*1.0P | 3
-PHC10-110 |211.75| 110 |90.9(19.1| 35 |97.5| 26 |30|49.5|10 41 31 M8*1.0P | 3
-PHC12-110 |[211.75| 110 |90.9(19.1| 40 |97.5| 28 |32|49.5|12 46 36 M10*1.0P| 5
-PHC14-110 |211.75| 110 |90.9(19.1| 40 |97.5| 30 |34|49.5|14 46 36 M10*1.0P| 5
-PHC16-110 |[211.75| 110 |90.9(19.1| 45 |97.5| 34 |38|49.5|16 49 39 M12*1.0P| 5
-PHC18-110 |211.75| 110 |90.9(19.1| 46 |97.5| 36 |40|49.5|18 49 39 M12*1.0P| 5
-PHC20-110 |211.75| 110 |90.9(19.1| 42 |97.5| 38 |42|49.5|20 51 41 M16*1.0P| 8
-PHC25-110 |[211.75| 110 |90.9(19.1| 48 |97.5| 53 |55| 63 |25 57 47 M16*1.0P| 8
-PHC32-110 |211.75| 110 |90.9(19.1| 61 |97.5| 60 |63| 70 |32 61 51 M16*1.0P| 8

AR RR:
T qﬁ_l K Length (L1)
JJ#FE1Z Diameter
IngefXS Holder type
SEMRTZ T Taper size

= 62



HIETIR

S ®
VY wE RS %5 O-N-W

-SK50-PHC & JJ#8  sk50-PHC HYDRAULIC TOOL HOLDER

SK/DAT. NO %
.

&t

E
*7% L3 L2
= L1

EE
=<
=]
e
>
c
=
n
[a}
I
=
o
=
&
wv
m
2
m
wn

=

= RABARE C RMEARE C1
&= Model d Max. insertion ;;pth Min insertion dlepth
SK50-PHC32-30.9 132.65[30.9| 11.8 |19.1| 97.5 |44.5| 70.5 |32 62.5 51 M16*1.0P 2.5
RIS RA:

? E L1 4 E Length(L1)
JIFFE1Z Diameter
I

BEX S Holder type
HIRAZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-SK40-SPHC #JEJIH8  sk40-SPHC HYDRAULIC TOOL HOLDER

SK/DAT. NO D & o1

I
& S
BE
7 a
W&
gﬁ
E
ﬁUa

2S Model () [ e

SK40-SPHCO03- 85 |153.4|85| 65.9 (19.1| 42 |63.55| 11 46| 3 * 18 * 1.3
=115 [183.4|115| 959 |19.1| 72 |63.55| 11 46| 3 * 18 * 1.4
SK40-SPHC04- 85 | 153.4| 85| 65.9 |19.1| 42 |63.55| 11 46| 4 * 24 * 1.3
=115 [183.4|115| 959 |19.1| 72 |63.55| 11 46| 4 * 24 * 1.4

-SPHCO05- 85 | 153.4|85| 659 |19.1| 42 |63.55| 12 46| 5 * 26 * 1.3
=115 [ 183.4|115| 959 |19.1| 72 |63.55| 12 46| 5 * 26 * 1.4
-SPHC06-115 | 183.4|115| 959 |19.1| 74 |63.55| 13 46| 6 37 27 M5%0.8P | 1.4
-145 [ 213.4|145| 1259 |19.1| 104 | 63.55| 13 46| 6 37 27 M5*0.8P | 1.5
-SPHC08-115 | 183.4 |115| 959 [19.1| 74 |63.55| 15 46| 8 37 27 M6*1.0P | 1.4
-145 | 213.4|145| 1259 |19.1| 104 | 63.55| 15 46| 8 37 27 M6*1.0P | 1.5
-SPHC10-115 | 183.4|115| 959 [19.1| 74 |63.55| 17 46 (10 41 31 M8*1.0P | 1.4
-145 (213.4|145| 1259 |19.1| 104 | 63.55| 17 46|10 41 31 M8*1.0P | 1.5
-SPHC12-115 | 183.4|115| 959 |19.1| 74 |63.55| 19 46|12 46 36 M10*1.0P| 1.4
-145 (213.4|145| 1259 |19.1| 104 | 63.55| 19 46|12 46 36 M10*1.0P| 1.5
-SPHC14-115 | 183.4|115| 95.9 |19.1| 74 |63.55]| 21 46| 14 46 36 M10*1.0P| 1.6
=145 [ 213.4|145| 1259 |19.1| 104 | 63.55 | 21 46| 14 46 36 M10*1.0P| 1.8
-SPHC16-115 | 183.4|115| 959 |19.1| 74 |63.55| 23 50|16 49 39 M12*1.0P| 1.7
-145 | 213.4|145| 1259 |19.1| 104 | 63.55| 23 50|16 49 39 M12*1.0P| 1.9
-SPHC18-115 | 183.4|115| 959 |19.1| 74 |63.55| 25 50|18 49 39 M12*1.0P| 1.7
=145 | 213.4 {145| 125.9 |19.1| 104 | 63.55| 25 50|18 49 39 M12*1.0P| 1.9
-SPHC20-115 | 183.4|115| 95.9 |19.1| 74 |63.55| 27 50 | 20 51 41 M16*1.0P| 1.8
=145 | 213.4 {145| 125.9 |19.1| 104 | 63.55| 27 50| 20 51 41 M16*1.0P| 2

FA& 5t BR:
? qﬁ.l E Length (L1)
JIFFE1Z Diameter
IN§ELS Holder type
SRS Taper size

= 64



HIZTIN

7 i ®
VY wE RS %5 O-N-W

-SK50-SPHC #®EJJ#8  sk50-SPHC HYDRAULIC TOOL HOLDER

SK/DAT. NO

(]
(<]

Y,

C1

JJL‘W/\W”"_OE

1=

L4
L2

D3

z
é j% pLs L1
37] )
s
1T - BABARE C BOEARE C1
7 § ES Model b3 d Majx. insertig:;pth EI\;Tin/insertigr':;zpth
SK50-SPHCO06-150 | 251.75 {150| 130.9 [19.1| 100 | 97.5 | 13 50| 6 37 27 M5*0.8P | 4.2
-200 | 301.75 |200| 180.9 |{19.1| 150 | 975 | 13 50| 6 37 27 M5*0.8P | 4.4
-250 | 351.75 |250| 230.9 [19.1| 200 | 975 | 13 50| 6 37 27 M5*0.8P | 4.6
-300 | 401.75 |300| 280.9 [19.1| 250 | 97.5 | 13 50| 6 37 27 M5*0.8P | 4.8
-SPHC08-150 | 251.75 [150| 130.9 |19.1| 100 | 97.5 | 15 50| 8 37 27 M6*1.0P | 4.2
-200 | 301.75 |200| 180.9 |{19.1| 150 | 975 | 15 50| 8 37 27 M6*1.0P | 4.4
-250 | 351.75 [250| 230.9 (19.1| 200 | 97.5 | 15 50| 8 37 27 M6*1.0P | 4.6
-300 | 401.75 [300| 280.9 [19.1| 250 | 97.5 | 15 50| 8 37 27 M6*1.0P | 4.8
-SPHC10-150 | 251.75 |150| 130.9 |19.1| 100 | 97.5 | 17 50|10 41 31 M8*1.0P | 4.3
=200 | 301.75 [200| 180.9 (19.1| 150 | 97.5 | 17 50|10 41 31 M8*1.0P | 4.5
-250 | 351.75 [250| 230.9 (19.1| 200 | 975 | 17 50|10 41 31 M8*1.0P | 4.7
-300 | 401.75 [300| 280.9 [19.1| 250 | 975 | 17 50|10 41 31 M8*1.0P | 4.9
-SPHC12-150 | 251.75 |150| 130.9 |19.1| 100 | 97.5 | 19 50|12 46 36 M10*1.0P | 4.3
-200 | 301.75 [200| 180.9 (19.1| 150 | 97.5 | 19 50|12 46 36 M10*1.0P | 4.5
-250 | 351.75 [250| 230.9 (19.1| 200 | 97.5 | 19 50|12 46 36 M10*1.0P | 4.7
-300 | 401.75 [300| 280.9 [19.1| 250 | 97.5 | 19 50|12 46 36 M10*1.0P | 4.9
-SPHC14-150 | 251.75 {150| 130.9 |{19.1| 100 | 97.5 | 21 50| 14 46 36 M10*1.0P | 4.4
=200 | 301.75 [200( 180.9 {19.1| 150 | 97.5 | 21 50| 14 46 36 M10*1.0P | 4.6
=250 | 351.75 [250( 230.9 {19.1| 200 | 975 | 21 50| 14 46 36 M10*1.0P | 4.8
-300 | 401.75 [300| 280.9 {19.1| 250 | 97.5 | 21 50| 14 46 36 M10*1.0P| 5
-SPHC16-150 | 251.75 [150| 130.9 |19.1| 100 | 97.5 | 23 50|16 75 39 M12*1.0P | 4.4
-200 | 301.75 |200| 180.9 [19.1| 150 | 97.5 | 23 50|16 75 39 M12*1.0P | 4.6
-250 | 351.75 |250| 230.9 [19.1| 200 | 97.5 | 23 50|16 75 39 M12*1.0P | 4.8
-300 | 401.75 |300| 280.9 [19.1| 250 | 97.5 | 23 50| 16 75 39 M12*1.0P| 5
-SPHC18-150 | 251.75 |150| 130.9 |19.1| 100 | 97.5 | 25 50|18 75 39 M12*1.0P | 4.5
-200 | 301.75 [200| 180.9 [19.1| 150 | 97.5 | 25 50|18 75 39 M12*1.0P | 4.7
-250 | 351.75 [250| 230.9 [{19.1| 200 | 97.5 | 25 50|18 75 39 M12*1.0P | 4.9
-300 | 401.75 |300| 280.9 [19.1| 250 | 97.5 | 25 50|18 75 39 M12*1.0P | 5.1
-SPHC20-150 | 251.75 (150| 130.9 |19.1| 100 | 97.5 | 27 50| 20 75 41 M16*1.0P | 4.6
-200 | 301.75 [200| 180.9 ({19.1| 150 | 97.5 | 27 50| 20 75 41 M16*1.0P | 4.8
-250 | 351.75 |250| 230.9 (19.1| 200 | 97.5 | 27 50| 20 75 41 M16*1.0P| 5
-300 | 401.75 |300| 280.9 [19.1| 250 | 97.5 | 27 50| 20 75 41 M16*1.0P | 5.2
FA& 15 BA:
@_1 KE Length (L1)
JI¥FE 1 Diameter
IhEE1X S Holder type
SENARZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

-SK40-ZPHC =& EJJ4R  sK40-zPHC ZERO FIT HYDRAULIC TOOL HOLDER

MRS
FIG.1 __zerofitscrew

SK/DAT. NO IDG §; &

C1

L4

, e

FIG.2 X HEIRET c

zero fit screw c1

SK/DAT. NO

L3

L4

L2
L1

0> D3 4 BABAREC BOBAREC

Max. insertion depth Min insertion depth

SK40-ZPHC12-80.5 | 148.9|80.5| 61.4 {19.1|31.5/63.55|28| 32 |49.5|12 46 36 M10*1.0P| 1 | 1.4
-ZPHC16-80.5 (148.9|80.5| 61.4 |19.1| 33 |63.55|34| 38 [49.5|16 49 39 M12*1.0P| 1 | 1.4
-ZPHC20-80.5 (148.9|80.5| 61.4 |19.1| 34 |63.55|38| 42 [49.5|20 51 41 M16*1.0P| 1 | 1.4
-ZPHC32-80.5 (148.9|80.5| 61.4 |19.1|25.5|63.55|60| 63 | 80 |32 61 51 M16*1.0P| 2 | 2

AR ERA:

E L1 & EE Length (L1)
JJ#FE 1% Diameter
IHEE{X S Holder type

EFRAZ I Taper size

SNFS AR

e
=
S
Pl
>
c
=
a
o
T
c
o
~
10
©n
m
2
m
«n




HIZTIN

S ®
VY wE RS %5 O-N-W

-SK50-ZPHC =& EJJ4R  sK40-zPHC ZERO FIT HYDRAULIC TOOL HOLDER

T HEIRET C

zero fit screw

Vi SOOI 74

=t

S3IS SHINHD DIMNVYHAAH
WSS At

%

B Model et

SK50-ZPHC06-80.5 |182.25|80.5| 61.4 [19.1|29.5| 97.5 [22| 26 |49.5| 6 37 27 M5*0.8P | 3.2
-ZPHC08-80.5 |182.25/80.5| 61.4 |19.1| 30 | 97.5 |24| 28 |49.5| 8 37 27 M6*1.0P | 3.3
-ZPHC10-80.5 |182.25(80.5| 61.4 |{19.1| 35 | 97.5 | 26| 30 |49.5|10 41 31 M8*1.0P | 3.3
-ZPHC12-80.5 |182.25(80.5| 61.4 |{19.1| 40 | 97.5 | 28| 32 |49.5|12 46 36 M10*1.0P| 3.3
-ZPHC14-80.5 |182.25(80.5| 61.4 |{19.1| 40 | 97.5 |30| 34 |49.5|14 46 36 M10*1.0P| 3.3
-ZPHC16-80.5 |182.25(80.5| 61.4 |{19.1| 45 | 97.5 |34| 38 |49.5|16 49 39 M12*1.0P| 3.3
-ZPHC18-80.5 |182.25/80.5| 61.4 [19.1| 46 | 97.5 |36| 40 |49.5/18 49 39 M12*1.0P| 3.3
-ZPHC20-80.5 |182.25(80.5| 61.4 |{19.1| 42 | 97.5 |38 42 |49.5|20 51 41 M16*1.0P| 3.3
-ZPHC25- 100 |201.75|80.5| 61.4 |{19.1| 48 | 97.5 |53| 55 | 63 |25 57 47 M16*1.0P| 3.8
-ZPHC32- 100 |201.75|80.5| 61.4 {19.1| 61 | 97.5 |60| 63 | 70 |32 61 51 M16*1.0P| 4.2

AR ILRE:
T @l E Length (L1)
JIFFE 1R Diameter
IHAE{X S Holder type
SEFRFZ T Taper size



B TIRR

® A3
@ O-N-W RETEF [

SK50-MPHC {&EJEJJ4  sK50-MPHC HYDRAULIC TOOL HOLDER

SK/DAT. NO

)

NS A
SIS SHINHI DMNVIAAH

=5 Model 9 e et cep | it i cegn
SK50-MPHCO05-110 |211.75] 110| 90.9 [19.1| 55 | 975 13| 31 |60 |5 * 26 * 3.6
-MPHCO06-110 |211.75| 110|90.9 [19.1| 55 | 975 14| 32 | 60| 6 43 27 M5*0.8P | 3.6
-MPHCO08-110 (211.75| 110 | 90.9 |19.1| 55 | 97.5 |16|33.5| 60 | 8 43 27 M6*1.0P | 3.6
-MPHC10-110 |211.75| 110 | 90.9 |19.1| 55 | 975 |18| 35 | 60 |10 43 31 M8*1.0P | 3.6
-MPHC12-110 |211.75| 110 | 90.9 |19.1| 55 | 97.5 |20|36.5| 60 |12 50 36 M10*1.0P| 3.6
-MPHC14-110 |211.75| 110 |90.9|19.1| 60 | 97.5 |22| 38 | 60 |14 50 36 M10*1.0P| 3.7
-MPHC16-110 |211.75| 110 | 90.9 |19.1| 60 | 97.5 |24|39.5| 60 |16 53 39 M12*1.0P| 3.7
-MPHC18-110 |211.75| 110 | 90.9|19.1| 60 | 97.5 |27| 41 |60 |18 53 39 M12*1.0P| 3.8
-MPHC20-110 |211.75| 110 | 90.9|19.1| 60 | 97.5 |28| 42 | 70 |20 95 41 M16*1.0P| 3.8
-MPHC25-110 |211.75| 110 | 90.9 |19.1| 60 | 97.5 |30| 44 | 70 |25 95 47 M16*1.0P| 3.9
-MPHC32-110 |211.75| 110 | 90.9|19.1| 60 | 97.5 |[40| 54 | 70 |32 95 51 M16*1.0P| 4
MRS RA:

% L1 Length (L1)
JIMFE 1R Diameter
IHEEL S Holder type

$EIRAZ T Taper size




hRAXFRA BHENXF  ALLRIGHTS RESERVED

AR, HIMCESSHEEN, WUy AL, BASITER
PRODUCTS ARE IMPROVED CONTINUOUSLY, EVERYTHING IS IN ACCORDANCE WITH

PRACTICALITY UNDER CHANGED OUTINE AND PARAMETER, AND WITHOUT STILL FURTHER NOTICE.

LARBRIEBEIETI BB RAE

WAREFTHIKERFERNESE T —BXEL

ERHEELTE:

TEL: 400-697-5558

E-mail: sales@ounuowei.com
ounuowei.1688.com
WWW.ONWCNc.com

SNERHE T4

TEL: 0086 537 6598237

FAX: 0086 537 6598237

E-mail: md3rd@ounuowei.com
ounuowei.en.alibaba.com
WWww.ounuowei.com




